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GEOGRAPHY - TOPIC 1 (page 2 — 8) Describe a climate graph and identify their features. How does global atmospheric circulation create high
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What are the NATURAL causes of climate change? What evidence do we have of past climate change? What is the enhanced greenhouse effect and what

Sunspot theory: dark spots on the sun mean more heat is Glacials are colder periods. Interglacials are warmer periods. evidence is there that humans are contributing to it?

emitted e.g. Medieval Warm period 950AD Ice Cores storing - Natural P R

Eruption theory: volcanoes erupt and their gas reflects sunlight past levels cifcoz' &2 350 r Greenhouse Effect Greenhouse Effect

i Y Tree rings show ¥
e.g. Mt Pinatubo led to a 0.5C fall in temp (1yr) h—g— P % E 300 J o — FERC o
3 : X 5 ow warm / we’ 8 S ' g into space
Orbital theory: The earth can move round the sun in a circle or in foold farisach E : 250 Nﬂme\vﬁ\MJ r!
< £2a 200 r ! 4
an oval. This means the earth can be closer or further from the year is Bc % X

Average temperature

sun so it affects temperature. This happens every 100,000 years Historical sources for the past 1000 years [y 1 |

C)

e.g. the world was 5 — 6C colder in past glacial periods. e.g. old photos, e ( ____________ | —— ﬁ _______ A
Asteroid collisions: When they hit they release ash and dust diaries. In Roman ‘f\ ,\f\\/\[\,}'\fv« ) \r
a v
reflecting sunlight and cooling earth. 1km sized asteroids hit Times 50BC to 450 5 2 v W 2
earth every 500,000 years. AD grapes were 800000 600000 400000 200000 Today
grown in Britain. Thousands of years ago
How do people enhance the greenhouse effect? What is the impact of human activity? How will climate change in the future?
co2 methane Nitrous Halocarbons )
oxide Sea level rise — Sea levels rose by 210mm from 1870 to 2010. e 35',’.%3‘,0,, Growth foesll
Fossil fue'|5 Farming Fertiliser; Solvent.s and Warming oceans — thermal expansion occurs (the sea warms, g 53 2:: k. B scoromic go, |
deforestation rice; cows sewage co.ollng expands and rises further). %+ comns B g
equipment Global temperature rise - The 10 hottest years on record have 5 2] | RECR
= = = = | some renewable energy,
We burn fossil fuels, which releases gas e.g. CO2 which traps the | occurred since 1998 e.g. 2005; 2010, 2014. % 2 |moderate economic growth
suns heat and warms the earth. Declining arctic ice — By 2012 floating sea ice in the Arctic had £ 1 R S = ——
Evidence shows that since the industrial revolution, CO2 levels shrunk to less than half of what is was in 1979 and over 90% of B o= T .
S . A § 1 e = Lo latio:
have been rising at a faster rate than has ever been recorded in the world’s valley glaciers are shrinking e.g. Virkisjokull, Iceland. | @ _4. .gm";np':"r‘;nawgb‘a £
the past — hence the evidence to support the view that humans Extreme weather — Events such as hurricanes and heavy erergy. vocyong, =100
are a big cause of the ‘enhanced’ greenhouse effect. snowfall or rain are becoming more frequent. March 2018! 30 cm

Copyright: images from the GCSE Geography Exdexcel B, Oxford textbook Ed.. Digby et al.

FURTHER LINKS

https://www.theguardian.com/environment/climate-change https://www.bbc.com/education/guides/z3bbb9g/revision/1  http://www.bbc.co.uk/schools/gcsebitesize/geography/climate change




GEOGRAPHY - TOPIC 2 (page 9 — |2) How do cyclones form? How do cyclones create storm surges?
HAZARDOUS EARTH — TROPICAL [ - =i o r © & from J Often regarded as one of the most destructive hazards associated with
A ik e hurricanes.
CYCLONES R : A stormn surge.. —and its destructive power
sreard e = ¥ i Figguares W rRESAINE WAncs pile up The suge can bagin bafon Elafiering wave: y
S | in we “':1' :'.\'-areirpu'rlz :ﬁ:"m:rg:r | -Plr'n :..gr mtr'hm g o .ﬂr-;l':rnl:‘:-':-.'uv:!':::c;u:ﬂal
What are ‘tropical C'\;‘CIOHES | 7 " — wwatar figher w d teward shone fcape damage bulldings
(hurricanes/typhoons)?
Weather systems that form over the : i b e i B Hl A S
" - G - Bk, - Dlll 1the =ionT
ocean in tropical areas (start over . &
warm equatorial oceans) that produce 4 [ ot PRl e s e Greseie o o s ]
heavy rain and strong winds. . : A shaliow eoasth
e . . 5 Stage 5 Once it reaches produses a g T
They are classified by their wind spend [ it from th s torn L-mu-c ] than & Feeper siops
F it 1:"-‘-“')’!’
using the Saffir Simpson Scale. & Figure 2 The Saffi-
Simpson Huricane Scale |
Where and when do they occur? Why are some countries (developing) more vulnerable to tropical cyclones? Named example: Bangladesh (Aila)
They have a ‘seasonal’ distribution, as can only form Bangladesh: 80% of the country is under 10m above the sea.
when the ocean temperature reaches 26.5 celsius. Facts: Bay of Bengal in May 2009, 200mm of rain fell. The strongest winds were 360km/hr. The air pressure fell to 967millibars creating a
o storm surge.
S ANTC 4himoans nd yphoor Social impacts: 190 people killed, 750,000 homeless
OCEAN season July-Ociober, JAPAN Economic impacts: 53,000 animals (deer and cattle) killed so income was lost. Poverty forced people into slums. The salt water killed
Tropic of Cancar [ &
ropic of Cancel N Py r'a\:::»xﬁ_ crops.
—L AN ‘1&% -3 | Environmental impacts: Fuel was lost {animal dung) so people cut down more trees, sickness and typhoid spread from dirty water,
PACIFIC OCEAN - o, malaria spread in the water, 30 Bengal Tigers drowned.
STy b Why are developing countries so vulnerable to cyclones?
— P fJ_FF'_
Tropic of Capricam : AUSTRALIA Economic: Bangladesh is one of the world's poorest countries (GNI of $900 per capita), so they can’t afford to prepare and reduce costs.
ik g Environmental: As much as 80% of the land is less than 10 metres above sea level and they don’t have flood defences.
i SR Uary-
Environmental: Three rivers including the Ganges join in Bangladesh, this means that rainfall and storm surges cause flooding.
What hazards do tropical cyclones cause? How effectively did Bangladesh prepare and respond to the How effectively did the USA prepare and respond to the cyclone?
# Strang winds. which whip up garden furniture, 14 rocfs. vehicles or carmans. eyclone? Woeather forecasting: Weather forecasts are frequent (even during the
bring down traes, power lines and even destroy whole buidings Weather forecasting: the Bangladesh Meteorological Dept issues storms).
DfNg achwn [n2es, DOwer INES and even Caslroy witoe DURdINGS
warnings on TV and Radio. In 2009 houses with radios has lower Satellite technology for tracking: Over 20 satellites operate in the USA
¢ Storm surges‘ which bring fooding caused by ’"’"F"""q" fides. High bdes death rates. In 2014 there were 50 mobiles per 100 people so this every day. In 2012 one failed during Hurricane Sandy so the UK gave
may be used in the future. (<) Not many had access in 2009 accurate predictions of its path. (z3) People could be warned in advance

Satellite technology for tracking: In 2012 Bangladesh spent $150M | Warning systems: The National Hurrlcane Centre issue warnings and

on its own satellite to track cyclones. Warning systems: They have educate people about cyclones. (23) People were prepared

" an early warning system to evacuate coastal towns. They run Evacuation strategies: Mississippi & Louisiana declared states of
campaigns with posters/films to educate people on what to do in emergency and evacuated 70-80% of New Orleans. (=) 30% remained and
storms. (:3) effective in urban areas but not in rural were then trapped by flood waters.

Evacuation strategies: There are 3500 cyclone shelters which each Storm Surge DefenceS' Embankments protect against storm surges e.g.
hold 5000 people. (23 effective if close by. British Red Cross helped | New QOrleans (2005) (%) broke and the town flooded. Over 80% of the city

¥ 1000 houses ~ was underwater.
fropical Storm Jangmi Which Seturaed, Neavy arouna, ump Storm Surge Defences: Embankments protect storm surges (=) Copyright: images from the GCSE Geography Exdexcel B, Oxford textbook
often storm surges exceed this height/ they are easily damaged. Ed.. Digby et al.

FURTHER LINKS

https://www.bbc.com/education/fguides/z9whg82 frevision/1 https://www.metoffice.gov.uk/weatherftropicalcyclone ffacts https:/fwww.youtube.com/watch?v=55x gisp24w




EOGRAPHY - TOPIC 3 (page 13-19)
HAZARDOUS EARTH — TECTONIC PROCESSES

What are the key features/layers of the earth?

Density | Physicalstate | Composition |  Temp('C|
(grams/em?)

Lihsphere  Contiventalousst 27 Solid Grant Arterp - 900°C
Ocenicorst 33 Salid Basalt firtemp - X0°C
Astenosphere 3444 Partaty moten 200-1600°C

Mente  [overmente 4456 S Percctte  1600-4000°C

Core Outer core 43122 Lioud Fenandnickel  4000-5000°C

The earth’s crust is made up of plates and there are two types:
Oceanic: denser, 6 to 8km thick, basalt,
Continental: lighter, 30 to Sokm thick, granite

How does heat from the core move the earth’s crust?

The cross-sectional diagram below shows the relative depth of each layer and how heat
radiating from the core, causes convection currents in the outer core and consequently,
in the mantle also.

Convection call in the mantle

Divergent plate margin,
where two plates are
pulled aparnt

Convection In the
liquid outer core
Convergent piate t
margin, where two
plates are pushed

together
Partly molten Plumes of heat
asthenosphera rise in the mantis;
the mantle is less
dense
IA Figure 1 How plate tectonics i ditven by canvection curmants

Where are different plate boundaries found?
Hot spots can also be found in the middle of tectonic plates. A hot spot is an intensely hot area in the
mantie below the Earth's crust. The heat that fuels the hot spot comes from very deep in the Earth.
This heat causes the mantle in that region to melt. The molten magma rises up and breaks through
the crust to form a volcano. E.g. Hawaiian islands on the Pacific

| «— Dwection of
| plate movement
oy s Divergent boundary

On your planet e Convargart boundary
Lock a e mao of platas

Crust: old and new

Mast cortnental crust is

boundary
5.4 LHlon yoars ol

Why are there different types of volcanoes?
Composite volesnoss {E.g. Mount Fuji in Japan)

i Oecur at parwergant piate boundarios {gee p.id),
* Bubrducted oceanic grus) contsine lole of water, The water reccts with
magn and crestes gageg, which cause the subducied orust fo arupl.
Theoy have explesive eubtions 1het stert with asky sxplosions p——
that doposit & loyer of ash.
* They erupt andesitio bve fhot hoo a high silioa content which makes #
I Hilck and sficky. The lova can't flow k¢ so forma n glesn-gided cons.

Wl vidianons (E.g. Mauna Loa on the Hewaisn ielonds)

* Ocour at holapote o dvvrgent plale hourdsries (ese p.1g). |
* They are 1ot 15 and are made up of ory lovi, <=
* They erupl . which hag Jow slics content and
s . 1 flows J fnd spraads ovar o wide g
forming a kv, gondly-siled valeano.
What types of boundaries are there?
Plate Example Earthquakes Volcanoes
boundary

No volcanoes.

Conservatve  San Ancirsas fault in
Calfomia, USA. North
Amencan and Pacific
platos slkling past

* [Destructive earthguskes
up to megnitude 8 S,

* Small oarih tramors

each other,
Devergent keelend, on the mid .5 rthquakes up 1o ® Notvery
Atlantic ridge. The 0 on the Rcnter Explosive or
Eux and North dangorous
American oceanc
plates pulling apart,
Convergent Andes mountaing * Very gestructive, up to * Very explosive,
n Poru and Chilo magnitude 9.5 destructive
Nezca cooancplte  _ o L L volcanoes,
& subductsd under b iind '
the South Amancan
continerial phate K
= Erupt andasiie
ava al
H00-1000°C.
Cadlision zonz  Himalayas, Formad ctve sarthauakzs,  Volcanoss ars
as the Indian end nagnituss 2 vRrY 1ate.

ental

* |ancisicdes as rogeed

aach other

How do tsunamis form and how do earthquakes occur?

Tsunami waves slow down and| | f the focus is shallow
wavelength drops, but wave
Tsunami waves height increases dramatically
~—spread out in— Earihcumie
all directions i i
- directions
| Water forced upward
\\ SQBbedm upward \ y Point on the 3
x | Seabed Sy e
'~ Fault becomes focus
shaliower 4
\ % _Earthquake focus closer to The sarthquake starts at the focus
coast

Key \{ Plato movement

A Figure 2 The focus
of an earthquakeo

A Figure 3 How a tsunam forms

DEVELOPING country: Haiti (12* Jan 2010) — effects & management
Earthquake magnitude: 7
Plates involved: Caribbean and North American
Type of plate boundary: Conservative (plates slide past each other and stick creating
friction
Epicentre: 16 miles west of Port-Au-Prince
Primary EFFECTS: 220,000 killed, 1 million homeless, 250,000 homes damaged or
destroyed, Presidential Palace collapsed, 1300 schools damaged, the main prison was
destroyed and 4000 prisoners escaped.
Secondary EFFECTS: Cholera killed 4000 people from 2010-11, 1 in 5 people lost their
Jjobs, dead bodies were piled up in the street as there were no hospitals or staff, the
airports were poorly managed so aid was difficult to get to the country. 8 years later
some areas have not been rebuilt due to lack of funding.

Prediction: There is very little monitoring of seismic activity in this region in the country

itself.
Response (Short term relief): 5100 million in aid given by the USA and $330 million by

the European Union, 810,000 people placed in aid camps, 115,000 tents and 1,000,000+

tarpaulin shelters provided
Preparation: There was little preparation and no warning of the earthquake. Many

buildings collapsed trapping and killing people. Lack of education meant people were not

prepared.
Long term planning: 98%: of the rubble on the roads hadn’t been cleared restricting aid

access, 1 million people still without houses after 1 year so still have to live in aid camps

" The shaking is worsa on the surface |

How do we measure earthquakes and volcanoes?

Earthguakes are measured using the Richter scale
shown on the diagram opposite.

Huge
devastation

one before it. The VEI also accounts for ash fall,
pyroclastic flows and other substances that are
ejected to the height, and duration, of the eruption.

but deaths
are rare

é‘ s Volcanoes are measured using the_‘Volcanic

3 3::;1?;:?33 Explosivity Index (VEI)' which measures the size /
E magnitude of explosive eruptions from 0 to 8. Each
5 Damage number is equal to ten times the explosivity of the
£ begins,

2

2

-101234656867809
Magnitucie

A Figure 1 Thi Fichier soas

DEVELOPED country: Japan (11 Mar 2011) — effects & management
Earthguake magnitude: 9
Plates involved: Pacific and North American Plates
Type of plate boundary: Convergent — the pacific plate sub-ducting beneath the N. American plate
Epicentre: 129km off the coast of Sendia
Primary EFFECTS: Ground shaking for 5 minutes, Japan shifted 2.4m east, a 400km stretch of
coast sunk (subsided), soil liquefaction {water is squeezed out of the ground). Roads and bridges
were damaged - 78 bridges and 3,918 roads.
Secondary EFFECTS: A tsunami killed 15,845 people (9000 missing or injured) 128,479 properties
damaged. The wave travelled 10km inland flooding many areas. Shipping was disrupted as ports
closed, the overall cost was $300 billion and 209 companies were forced into bankruptcy. The
Fukushima plant exploded leaking radiation so 200,000 residents were evacuated and an energy
crisis occurred.
Prediction: The Japan Meteorological Agency (JMA) monitor activity and issue warnings.
Response (Short term relief): 91 countries offered aid e.g. blankets and search dogs. Save the
Children UK and British Red Cross raised money. A British rescue team searched for survivors - 59
search and rescue experts, four medics and 2 sniffer dogs flew out on a private charter plane.
Preparation: A Meteorologiczl Agency official appeared on TV urging those affected by the quake
not to return home because of possible tsunamis. A Tsunami warning was issued 3 min after the
quzke. No buildings collapsed in Tokyo as they had strong walls, cross bracing and rubber
foundations
Long term planning: Tsunami defences have been built, emergency services do drills on how to
close the walls.

. Rmmemuws_____________________________|n

https://www.youtube.com/watch?v=Kg UBLFUpYQ

https://www.bbc.com/education/guides/ztpraty/revision/1




IGEOGRAPHY - TOPIC 4 (page 21-28)
DEVELOPMENT DYNAMICS AND INEQUALITY

How does population structure wary by level of development?

Mg - 2014 Uritisd Kirgelam - 2014

Wak

Foguiion n millons) Pugukrbon fin millons)

i B

Populior: fn miloes Hi Growg

How can development be measured using indicators?
Human development Index: Combined measure of health, education and wealth on a scale
from O{worst) to 1(best).
Economic indicators: GDP— the value of all goods and services in a country vs GNI which is
the same but includes income from abroad. This is often used per capita where the figure is
divided by the population to give you an average income per person.
Social indicators: Indicate quality of life for people in a country.
Polit indicators: Corruption perceptions index ranks countries "by their perceived levels of
public sector corruption, as determined by expert assessments and opinion surveys."

- Birth rate: Qo e Of live births per 1000 paecplie po

= Death rate: number of deaths per 1000 peopke

+ Dependency ratio: propo
arcd Ao | ar B5) Moarmm

an of people below [age
AriirIG S

1 clividir
W

s togather, a

#+ Fertility rate: average number of births per woman.

= Infant mortality: numiber of ahilcdren e 1000 Hwve Birthes
who die baefors their first birthday.

* Lifo expactancy: averags numbar of years & person can
expech 10 live

= Matarnal rnn:rlnlﬂ:y numbar of mothors Par 100 OO0 who

i oy cilcibeThy

How do developing, emerging and developed countries vary?

Data L ETE I Brazil UK
FPopulation
Barth rate (por 1000 people) (2014) 41.8 4.7 iz.2
Death rate (per 1000 peopia) (21 a B.5 9.3
Fertllity rate (2014) 5.7 1.8 1.9
populaticn aged O-14 48.9 23 8 e
% popUlaton aged 65 and over 2.7 7.6 17.3
Deper ey rates S (= as 8 sa8
Health
e expactancy (years) &0 73.3 80.4
ant morality per 1000 Fve births 48 19.2 4.4
nal mortality per 100 O 480 a9 12
O
MNumber of doctors per 100 000 2 2008) 19 28
DopUlation
Echucaation
Mosermge Number of years in school 11 12 165
neracy rate 74.8 91 23 o9
Average age of first Marrisge for 19U6 (2009) 29 are

)

How do we know there is inequality?

Weglth s not spread
gueay eoross ol coUntres =i ribest | Bt qale
in the world, Pacple in
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world's eountries (the
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(0D per capits), wheress
peple n the ponsest 0%

The: LK s In he 5t
e . Ohr counies

in the 5ih quintile nclude

Norway and Japa,

| e

frd infie

.WW| an

| == Chd i n the st cuinile.

pocrect | 1ot e L0 Other courtries n the lst
v -

he 1ot quinfile) heve just x i quintle inchue Malawd
1,065 of the world's wealh, | B ke and Cambodia,

What causes global inequality?
|-I'
00

Global inequality has many causes including:

Social causes: Such as education and health

Historical causes: Such as colonialism and neo — colonialism
Environmental causes: Such as climate and topography
Economic causes: Such as terms of trade, trade bloc
involvernent and international relations

Political causes: Such as systems of governance and
involvement in 1IGO'"s

This inequality can then in turn lead to social, historical, environmental, economic
and political consaquances. Hence the importance of being able to identify specific
countries in terms of their global inequality, to allow for sustainable global
development.

What are the theories used to explain global inequality?
Rostow’s Modernisation Theory Frank's core — periphery model

- —
_,~'9_u;]- ™
Consumption
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& Figure 4 Frank's Core-Periphery
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Time

Who are the players involved in globalisation?

* Trans-National Corporations: Companias that operate in 2 or more
countries e.g. BT

* Governments: They decide on policies for trade and investment

» Inter-governmental Organisations (IGOs): Large organisations made
up of a range of different countries .g. the World Bank, IMF and
United Nations.

* Non-governmental Organisations (NGOS): Charities such as Oxfam or
Wateraid they support people in poorer countries

* Trade Blocs: Groups of countrias who work together to reduce trade
barriers (taxes) for each other such as the EU.

* G20:The G20 are the twenty most developed economies in the world.
These countries meet every year, and discuss world trade issues.

https://www.youtube.com/watch ?v=FACK2knCOSE
http:/f'www.bbe.co.uk/schools/gesebitesize/geography/development/cont
rasts development revl.shtml

https://www.youtube.com/watch Py=XHvGNXIW1SY
http://developmentandglobalisation.weebly.com/development.html -

Development and globalisation

BOTTOM UP: What are the costs/benefits of NGO led development?
Bottom up: small scale, low cost, led
by lacal input, funded by charities.
KEY TERM: Intermediate technology:
low tech solutions for local people to
train in and use cheaply which solves
problems such as energy use.
EXAMPLE: ASTRA development
project led by Bangalore University to
build biogas plants. By 2010 there
were 4 million biogas plants in India.
Advantages (+)

Gas free cocking unlike dung or firewood so better health (lungs!)

Free time that would have been spent collecting fuel to girls go to school and it gives
electricity at night so people can work and study for longer hours.

Reduces the spread of disease as cow dung is one place and the process kills of any
bacteria and the sludge is usad as a fertiliser for farming.

Disadvantages (-}

It is small scale so there are still many people without electricity. The poorast
families won't have their own cattle to supply the biogas plants so it doesn’t help
everyone. It also relies on aid from charities to pay for the initial building.

Removable

Coves

Biogas callection —,
Inlet -

TOP DOWN: What are the benefits of 160 /TNC led development?
Top down: large scale, high
cost, little local input, funded
by governments and banks.
EXAMPLE: The dam is 163m
high and built on the Sardar
Sarovar river.
Advantages [+]
The dam provides 3.5 billion
litres of drinking water and
hydroelectric power.
Farmers in western India get
water from canals fed by the
dam which irrigates 1.8million
hectares of farmland e.g. in
Maharashtra.
Disadvantages (-}
234 villages flooded forcing 320,000 local residents out. Farmers lose fertile silt from
river flooding as the dam stops floods so less crops grow. Religious/historical sites are
flooded in Western India. Earthquakes are caused by the force of the water behind
the dam. Copyright: images from the GCSE Geography Exdexcel B, Oxford textbook Ed.. Digby et al.

A Figure 2 The

the site af fhe




EOGRAPHY - TOPIC 5 (page 29 — 31) How has globalisation changed India’s economy? What role has globalisation and governmental policy played in India’s development?
DEVELOPMENT DYMNAMICS There has been a massive increase in the tertiary 2nd quaternary job sector, which inturn has changed | Globalisation:
. the import and export needs of India, thus increasing its economy. However, inequality still exists. .7
— INDIA; How is one of the

world's emerging countries 1990 2015
managing to develop? .

More than 50% of all Indian’s now own a mobile phone, many have started their
own small businesses with these and therefore increased income.
*  TNCs such as Coca Colz and BT outsource manufacturing and IT here.

GDP (s +riIIEon) 0.2 I 2.1 * |ndia has 12 major ports and 20 international airports, which has increased trade
Where is India and how connected it E 1 and FDI from THC's.
o GNI per capita (¢ | 390 | 1600
Continent: Asia x Government policy:
Nearby countries: Pakistan, 5ri Lanka d *  In 1991, India received 52.2billion in aid from the IMF in exchange for changing
¥ - , y

policy e.g. removing tariffs on imports.

* In 2009 education was made free and compulsory — enrolment is 96%, thus

Exports Low-value manufectured Hi_gh-lmlue manufaotured increasing the level of skilled workers.

Bangladesh, Nepal
Mearby oceans: Indian Ocean, Arabian Sea, Bay of Bengal
How does India's location promote economic dev?

India is a former British celony. India is not landlocked, meaning it can easily transport goods 1 . R
internationally by boat. India aims to become 2 major transport hub within south east Asia. goods, e.g. clothing, and | goods, e.g. ma Dhllnerg * Th: go;_enlmen,t sPer;:‘.m(]: ey on road and rail upgrades e.g Delhi Metro
India is a large country, with good access to resources such as coal. Indiz's population is rapidly o | ]"'i”m',',‘:l _EI‘GdiJDf;’J. e.g. fea | (infrastructure investment). . B

growing, totals 1.324 billion (2016). This makes India the second mest populous country in the Imporie Menufaciu rg_d goode Crude oil (for fransport *  The government attracts FDI by r_ela:lng laws on buying property and tax to
world, with a large and growing economically active populatien (aged 16 —55). | " attract TNCs and companies e.g. investment from USA and Japan.

e.g. machinery, chemicals | and industry)

What impact have TNCs had in India? How has rapid economic wth caused demographic change in India? How has rapid economic growth led to urbanisation in India?
In India many TNCs have led a process called - \ Death rates and IM have fallen due to better healthcare and education. Life expectancy is now 68 | India now has 4 megacities including
outsourcing —where a company moves services or B—r ! {2014). So there is natural increase. Women have better access to education overall. However, as | Mumbai. Indlia's pace of urbanisation
manufacturing such as call centres overseas because \Pdia-1570 \rlia-2015 young people move to 14
labour is cheaper e.g. BT who have their HQ in New @ T RN 31w | urban areas, there are | In addition, by 2015 32.7% of people in . W Rurd
Delhi. il 1 fewer workers in rural | India lived in urban areas (an increase of g8

wtaes - PR— - : : " =

gy = villages. 5o children in | 1.8% since 2000). 3 W Urkan
Positive impacts: provides higher paying jobs e g. BT call centres workers earn £3000 a year in é“"“ *' ¥ rural areas may geta Z 06+
thie cities of India (higher than local wages). This creates the multiplier effect as people have s h poor education due to | Urban areas are growing due to rural to H
more spending money so other services and shops increase. Bangalore university graduates _%::: a lack of skilled | urban migration AND natural increase but E 0
enable BT to develop and support broadband services in India. o ‘teachers. Children may | it is slower than the global average. TNCs ES
0 f— — have to instead work | invest in urban areas which attracts rural : 0z
Megative impacts: rural to urban migration leaves the countryside with few workers and young o4 on farms as | migrants. If they struggle to find work,
men. Families are split apart as the investment is concentrated in the urban areas. This only g ':mzh_‘:mz'“ LA L ‘:wuﬂim: mf:‘ =R agricultural labourers. | many will end up working in the informal oo
helps educated people living in cities such as middle class in Bangalore not the poorest migrants Pap < 15 yrs N Echurstiens = complale Primany Primary sector. There is high competition for jobs. 1960 1980 2000 A0 0058 20ME  2050E
who still eamn low wages. Coca Cola are affecting water supply for locals and ruining their crops. L ) St
How has rapid economic h created inequal different regions in India? What are the itive and negative effects of India’s economic develo nt on different e? How has economic development impacted India’s environment?
Paositive
Most investment goes to Urban Core - Rural Periphery — * Al groups have access to better healthcare, which may proleng their life. Climate change Water pollution
urban areas to attract Maharashtra Bihar *  Literacy rates for women have increased from 34% in 1391 to 59% in 2011 There is also batter India is the largest emitter of CO2 after China 175 rivers in India are polluted {2015 (up from
FDI and this also attracts Urban pop % 45 11 access to contraception and family planning. with 5164 million tonnes in 2014. 121 in 2010} e g. the Ganges
rural migrants to move GDP per capita $ 2561 682 *  The middle class workers with degrees benefit from TNC investment and work in IT which is 455 of India's energy come from coal. Less than 1/3 of sewage in cities in treated
10 urban centres. HDI 0572 0.367 better pay The country is getting drier with 2009 the before entering water
| Literacy rate % &3 64 *  Infant mortality rate and death rates have fallen direst monsoon on record.
This leaves the rural Fertility rate 16 3.41 [highest in India) Hegative Deforestation and desertification Air po n
areas with fewer workers *  The elderly may not have skills to work in new sectors so they are left behind 25% of land in India is becoming desert India has 1320 of the world's top polluted
and little investment in schools and education. In rural areas poverty is commaon along with *  Women are often left in rural areas when their husbands migrate to cities so they have to including Maharashtra which affects food cities
malnutrition and low education rates. provide for the home and famity. supp_l\f. ) . i Air pollution reduces life expectancy by 3.2
*  Crimes against women in urban areas are common s¢ it is unsafe — crimes increased in Delhi Logging has led to flooding 2nd soil erosion. years
Women tend to be the worst affected as they are left in the rural areas and often have poor by 20% in 2014-15 — rape is common. Drought is also common with half of India's In cities, old vehicles release 002 and sulphur.
literacy and education levels. . Men may have to do dangerous jobs in the city with no laws to protect them as rapid lakes and wetlands disappeared between 1911 | Rural villager's burn dung, inhaling smoke
industrialisation occurs. and 2014. which causes cancer.
How as In global and regional role changed? How has India’s relationships with the EU and USA changed over time? Whiat are the views on the [-) and [+) of changing international relations and the role of TNCs in
India? 1 g
Globally: India is a member of the G20. The G20 are the twenty most developed SOCIAL AND ECONOMIC: India-EU trade is balanced; India exported goods | 'Mternational relations means how countries interact with each other. Some
economies in the world. These countries meet every year, and discuss world trade worth €35,500 million to the EU in 2014 and imported €37,100 million people rh'_”k I_"d'a 5h9” 'd focus more on what is happe.mng wnh'n.ﬂ‘e mu.nw
. - R . A N N . . . and reducing inequality such as female literacy. There is also growing tension
issues. Itis also a BRIC emerging nation and their economic growth is only second to euros. The EU and India have better relations and they became strategic " _ . . . .
. N . N . between India and China. {-). Others think having allies e.g. G20 or UN Security

China's. They also want to become a permanent UN Security Council Member. partners in 2004 to cooperate on certain issues. The EU supports health

Council will allow India more influence in global decision such as climate
and education programmes in India. change or political sanctions against countries going to war (+)

Regionally (in Asia): The partitioning of India and Pakistan in 1947 was accompanied
with riots and mass casualties. Kashmir is still an area fought over and in 2017 conflict ECONOMIC: Exports to the USA were worth 545,200 million compared TNC investment — the benefits are clear with investment which increase spending
began over supply over water (rivers start in India and flow into Pakistan). The E with 21,600 million. The USA sees India as a large market to sell goods and causes the multiplier effect (+). Howewver TNCs focus on urban areas creating

relationship between India and Pakistan is still far from healthy Both countries are to with 1.3 billien people especially renewable energy. greater inequality and causing environmental damage e.g. Coca Cola and their use of
nuclear armed. water to produce Coke which reduces crops for local farmers. TNCs can also lzave at any time |-

https://www.bbe.com/education/suides/zc72frd/revision/2 https://www.youtube.com/watch?v=Im0tHRs9Bng https://www.youtube.com/watch ?v=l-yjpvzGKZQ




EOGRAPHY - TOPIC 6 (page 33 — 37)

HOW AND WHY IS THE WORLD BECOMING
INCREASINGLY URBANISED?

How urbanised will the world be in the future?
Higher rates of urbanisation are leading to the growth of megacities. More than 50% of the
world's population live in cities now. In 1380s most of the megacities were in HICs (developed
natiens). Howaver in 2015 many are now in emerging countries such as India and China and only

Why are migrants on the move?

~

~

ﬂull +] —reasons people are \

sh factors (-] — reasol 0
25% were still in developed countries. A mega city is a city with a population of 10 million or more.
Uk s e o ' s 1o TR TEon leave an area. attracted to an area
l e ey — ] e ity L iy e ey * Shortage of jobs or low paid *  More work or higher paid jobs
" | Z5m (+25%) sareehl work *  Easier access to schoels and
y 20 {+43%) _ cpitals
+ Lack of schools and hospitals 2";““3'“ . ;
) » safety as there are more police
@ o *  Warof conflict. or ar:w present ’
LS Rio de Janeira a. o® s Natural disaster e.g. floods e Theidesofs cle'aner
] Tam b4 sha e Lack of food due to drought )
16m {+23%) 28m |+40%) ) environment
* Poverty and subsistence * Formal sector employment if
MEn farming are the only options people are qualified.
i imba 16m (+33%)
[ =i ZAMA15%) | puenos Alres S Sl \ there. \ /
18m (+14% m s e i
Why do urban areas have more influence in some countries? How does economic change impact on the city? How does migration impact the city?
Developing Emerging Developed Cormmaseil * Mosty in the GED - Central Business + This 4 the most accissitie part of the city (I rlbeny
Urban primacy means one city dominates the country it is in, such as Cities are growing e.g. R = e = E.mm, than trrest ol tha ity 5 D s ;ﬁfﬁ"f&ﬁlﬁ.‘;m.m Space
Megacities. For example, London in the UK is a primate city as it has a great LosTS e <l ” z — 22 {ENSIE S b ot et et = v SRR % SEEERY ) KL
; ' New Delhi e.g. New York e PAcES. = Land is axpersive s every bt of land is used. (City parks
Economic influence: — —— = ‘Low-rse’ Dusiness Bnd el parks on the Bre protecied Dy ).
T o o () Poor rural areas, less | (&) People move to the cities | () Out migration as people ity eckge lihe rursl-urban fringe. + Planners alavy these rvar main Fads for retad customens.of
» Investment: TNCs locate there attracting investment in infrastructure and hreesrooerimien for work in manufacturing e T et e e
services e.g. Lagos. people migrate to cities for and service jobs work. Migration CAN lead to a 1 inner city
* Migration: Often these cities have many job opportunities for skilled work. Migration CAN lead to decline! Lt

workers in quaternary and tertiary jobs in developed country megacities.
However often these are low skilled informal sector jobs in emerging and
developing country megacities.

s Transport: International ports and airports are located here encouraging
further investment and migration as they are accessible

Political influence:

* TNC and government headquarters are located here so decisions about

development often favour those cities rather than the rest of the country.

growth!

(Cities have informal

@ Some cities have @ Low skilled workers e.g.

unskilled work for migrants,
good transport here means

industrial centres and
manufacturing jobs, other

cleaners and factory workers
are attracted to more

lots of jobs cities have service sector jobs successful cities in the
eg. T in Bangalore country {urban-urban
migration)
(&) TNC investment means @ Countries get richer and @ Deindustrialisation has
manufacturing is growing invest in flagship projects e g. led to the decline of

sports stadiums to attract FDI

industrial areas. Some cities

Resdential

n 3
* The alsast proparties A close 1o tha centrs
* Fiesidential areas dilfer betwesn one past of &
city and anclher.

Houging varins batween déforent parts of cties:

= 10 century houses v terraced, in
paralel mws.

= 201 canury houses Bng lower-densly
housing estates further oul, with seemis
detached and detached bosrg

commecial wea,

= Usually surmoundng tha CED ard indusinies * Land is cheaper furthar from business and
suburbs

+ Citae grow oUIWENTE In FINge, with oldee! BUbLrDS near the

cantne pnd nevwaat on the outshkirts.

& Land i axparsise near (he conire, 40 lrraces and Rats are
common. Further away from the city, cheaper land means:

heusns can have lager garons

* Inhusgtry owrers it theea at high daensitias fior
wivkars

faciony

* Land was cheapar furhar cut. 80 houses had & gerden and
garage. Planners developed esiaies i house those moved
fom nrar city shurme in e 1950s ard 60a,

and create jobs are still declining =.g.

Sunderland whilst others are

ing e.g. Londen

* 21 canbury hoUSING vires o Sarrments
i1 the innor city 10 Bige HOUSIfg estaes on

the ousskirls, fhat Fas nevor been bt ond on the edae of Gitles,

4 I 1 219 cernbury planners prslir 1o olow NoLSIng on
rownfield” Brc mther than use 'gmlcl' sites (tarmiand

How do urban economies vary in developing, emerging and developed countries?

Kampala, Uganda

New Delhi, India

New York, USA

Maostly women and poor
in informal jobs.

Maost Uganda's are still
subsistence farmers.

Only 5%: of people work
in manufacturing.

The formal sector is
small but mostly service
sector (tertiary) e.g
offices, stalls, banks etc.

39" wealthiest city.

Mast people wark in
services (tertiary) which
earns 78% of the cities
GDP.

20% of people work in
manufacturing
{secondary).

Most manufacturing is
still informal with no
benefits, min. wage or

good working conditions.

Developing Emerging Developed
80% of people in 75% of workers are in 10% of employment
informal sector jobs. the informal sector. comes from

manufacturing fed by
migrant workers.

Knowledge economy is
valuable e.g. banks
which 10% of people
work in.

There is an informal
economy earning 7% of
the GDP e.g. cleaning
and construction jobs.

Copyright: images from the GCSE Geogrophy Exdexcel B, Oxford textbook Ed_. Digby et al and

from CGP Revision Guide Edexcel B, Boulter et al

http

bbc.com/education/zuides/zwtgnbk/revision/1

What changes occur in urban areas over time as they develop?

Urbanisation — Cities often grow through industrialisation e g. UK in the 1800s. Workers
lived in terraced houses near factories [migrants). When factories moved to developing
countries in the 1970s slums and apartment blocks were built to house workers there.
Suburbanisation — The movement of people from the middle of the city to the edges.
This happened in the 19005 in developed countries because the cities were
overcrowded and polluted but the suburbs had green space, gardens, larger houses and
transport meant people could commute to work.

Deindustrialisation — As countries develop their secondary industry closes or moves to
other countries. As this happens the inner city becomes derelict .g. London Docklands.
This happens as land is cheaper on the edge of town or labour is cheaper in developing
countries. This is called the global shift. Depopulation occurs as people leave to find
work elsewhere and poverty occurs where industry was located.

Counter-urbanisation — People move to rural areas. This began in developed countries
in the 1970s. People want a higher QOL in the country and house prices are lower. Car
ownership/rail means people can commute.

Regeneration — Since the 1990s some inner city areas have been regenerated e g.
London Docklands. Government/TNCS invested in the city centre to attract people and
further investment e.g. young single people. This leads to re-urbanisation (people
moving back into the city).

theguardian.com)/cities/urbanisation https

eo;rgh','.orr.uk-"Urhan|sat|cn

How and why does land use vary in urban areas?

| Rural- | Suburbs | Inner city CBD |Innercity | Suburbs | Rural-

urban | (Oldar (Firanca, admin offices, | urban

| fringe | nousmg, | retal and qovemmant buidings) | f | fringe
Grien bt | \ Industries | y | [
\ ! / | |
\ \ and \ / |

Cost of the land — It is cheaper on the gutskirts as there is less demand there. Housas are newer

and larger in size on the edge of towns as a result.

Availability — Some cities have less land due to geography e.g. Lagos. In the CBD all land is in high
demand so buildings go upwards and skyscrapers develop. Some businesses locate on the edge
of cities where there is more land e.g. retail parks. Brownfield land is being built on in the inner

city (land already used) e.g. Canary Wharf in London is built on a brownfield site — the old
Docklands.

Planning regulations — Polluting industries may be banned from the city centre, some cities are
not allowed to build on green belt (untouched) land. This is contralled by the local government

planning officials.

Accessibility — CBDs are usually accessible as trains/buses run there so TNCs invest however

some industry locates on the edge now as there are airports.

www.bbc.com/educat

ideccast http: {puides/z3n3gdm,/

am/revision/ 2




[JICECGRAPHY - TOPIC 7 (page 38 — 42)
EMERGING COUNTRY MEGACITY CASE
STUDY; LAGOS, NIGERIA.

Lagos is located in Nigeria. It has a population of 21 million.
Lagos is Nigeria’s biggest city and it WAS the capital until

1991. 1t
c GOS :
Maits urban areas, lagoon, remains
harbour and port the
el biggest
financial
centre.

Atlantic Ocean

Abuja is the capital. Lagos is the
centre of the Nigerian film industry
(‘Nollywood’) and a thriving music
scene for ‘Afrobeat’ The city has
spread north and west over time.

What is the structure of the city of Lagos?
Key: shum ;-+§)u\rparl (wela | port I
rallway

——— major road

How connected is Lagos?

National: main roads connect to the
capital Abuja. It contains 80% of
Nigeria's industry.

Regional: It has an international
airport and busy port for trade with its
neighbours.

Global: TNCs such as oil company
‘Shell’ located here.

Lagos
lsland

Victoria leland

How has Lagos’ city structure changed over time?

ceDd

Aren

Lagos

Igland ‘

Mushin | Older, high-density, low-quality houses. |

lkeja | Large industrial estate built in the 19605, with
fagtories making e.g. plastics and textiles.

| fuetoric ing 0.g. plastios and fex?

Modern,

commercial — lots of businesses and shops.

Age and function

Modern high-rige office buildings, local

government headquariers and banks.

Inner
oity

ST Victoria

Rural-

urban

fringe

Lagos island has the oldest parts of the city but it has been regenerated so has luxury
shops. The city spread north and west along the railway. Slums developed on the edge of

the city and the lagoon.

Why has Lagos grown over time?
Historic — British rule attracted trade and merchants to the city

from rural areas. High birth rates and falling death rates led to natural increase.

1960 to 1990 — Post independence the country sold oil attracting wealthy people. The
government financed construction e.g. building ports and the jobs attracted workers

Lagos ulation
Recent change - Rural urban S

migration occurs (urbanisation). Poor
migrants come from nearby countries
e.g. Benin search of work. Migrants -
come from the north of Nigeria [}
where there is conflict. International
migrants come from the UK and
China as TNCs from those countries o
move to Nigeria for oil. Natural 0
increase is still high as many migrants 1850
are fertile and have children.

—Population n milicns

1960 1970 @ 1960 X0¢ 200

v Warkd Fopuanin Rese

a7

How has population growth changed land use in Lagos?

* The city expanded north along the

railway line. it
e Land has been reclaimed fromthe | [t
lagoon to make more space e.g. D
Banana island (has gated s x
communiites)
*  Slums also developed on =

wasteland e.g. Makoko although
the government cleared them for
waterfront developments.

* House prices have risen in the CBD
forcing people to live in the rural
urban fringe.

® Some residential areas have been

Lot s

A

upgraded e.g. Ikoya is one of the
richest areas of Lagos now with luxury shops (was middle class housing).

What are the opportunities and challenges for people living in Lagos?

Opportunities @) Challenges &
 More hospitals / schools.
68% have a secondary
education
{ Electricity for people to
cook and have lighting (§ +

Rapid population growth means population density
is now 20,000 people per km2.. 2/3 people live in
slums.

{ 60% of the population live in slums like Makoko
- Communal toilets shared by 15 households >

develop buzinesses)

§ Water treatment plants waste into lagoon > health problems ie cholera
provide safe water piped to - Communal water point can be 3km away, illegal
the city electricity connections often get cut off, only 1

& Rapid growth of Lagos = school
jobs in construction {(Eko
Atlantic). & Limited formal jobs. 60% work in informal jobs

like scavenging in the Olusosun dump

&4 Waste disposal and emissions are not controlled
> air and water pollution. 10,000 illegal industries
) Traffic congestion is really bad (2 hour

[: ) ‘Go slow’

8 Job opportunities. 80%
Nigeria’s industry is here: 2
major ports, banks, factories

How and why does quality of life vary in Lagos?
Rich areas: Wealthier people live in gated communities eg. Banana island near the

average of $2million so people can afford water supply and enough land for a high
quality of life.

e.g. Makoko has one toilet for every 15 houses so disease spreads easily. The

(in the lagoon), they live closer to work so don’t get stuck in traffic, the whole city has a
lack of electricity but wealthy people run their own generators. Houses here cost an

Poorer areas: Poorer people can’t afford housing so live in slums which are built on land
that floods or is close to polluting factories. The lack of electricity means people cock
on stoves which damages their lungs and cause air pollution. There are a lack of toilets

government regularly destroy the slums as they are illegal so people have no security.
What are the political and economic challenges of managing the city?

CceD

affect wealthy business owners lorry businesses

CBD is expensive.
Poor residents— Want the slums to be improved and more affordable housing.

bribe locals and police to get their way.

Elite residents — The wealthy and business owners have a clear influence on changes
e.g. land use such as new railways proposed around Lagos were stopped as it would

Wealthy residents— They want investment in modern offices e.g. Eko Atlantic as the

Corruption — This is common in Nigeria. If the government introduce laws the rich just

Which is best — government/IGO top down OR communi

NGO bottom up strategies to improve the city?

Government (top down)

Community / NGO (bottom up)

+ improves the WHOLE city
+ funds expensive projects

+ planned with locals for their needs
+ low cost so they are affordable

- Expensive and money may be borrowed to pay for it
- often ignore locals needs and negatively affect them

-smali scale so reach few people
- rely on donations in NGOs so may run out of money
- lack co-ordination in NGOs

Strategies being used:

1. Improving water supply — Work has begun on a US $2.5 billion plan which
includes new water treatment plants and distribution networks

2. Reducing traffic congestion — Two light rail lines are under construction to
relieve road congestion. They will be emission free and will take 35 minutes
instead of 4 hours by car.

3. Improving waste disposal — The Lagos Waste management authority
(LAWMA) are implementing rubbish collections at night (less congestion).
Recycling facilities are being built.

4. Improving air quality — Small electricity generators cause lots of air pollution,
50 their import has been banned.

Strategies being used:

1. Improving health — CHIEF is an NGO that is opening
community heaith centres, particularly for the
disadvantages. They also run health education
programmes.

2. Improving city housing — SEAP is a Nigerian NGO who
offers small loans so people can afford to get a mortgage,
50 people can move out of slums.

3. Improving education - The Oando foundation is a charity who have ‘adopted’ and

renovated schools in Lagos, improving teacher skills.




EOGRAPHY - TOPIC 8 (page 44 -49
UK PHYSICAL LANDSCAPES

Geology: means different types of rock
Igneous

Sedimentary Metamorphic

Formed when layers of
dead plants and animals
are compacted often
under the ocean.

Formed when rock is put
under heat or pressure —
usually within the earth.

Formed when rock
melts, cools and
solidifies e.g. magma
from a volcano cools.

These rocks are often
shiny/glossy.

Contain crystals and are
resistant rock.

Layers of rock —less
resistant and contain
fossils.

Examples: Shale,
limestone, sandstone

Examples: slate, gneiss,
marble

Examples: obsidian,
granite, basalt

* Direct effects: immediate results of human activity e.g. cutting down forest to make space for fields.
* Indirect effects: happen as a result of direct effects e.g. building groynes causes erosion further down the coast.

Agriculture — Romney Marsh in Kent is low value land used for farming (cattle). This means it is left without defences. Clearing vegetation for farmland loosens the
soil on the cliffs so it blows away. Agriculture has a massive change on the landscape as land is divided into fields and cleared of forests. Arable and dairy farming
require large areas of land, with good fertile soils. Sheep farming can take place in harsher conditions in upland areas.

Forestry — This is the management of areas of woodland, they can be used for timber, recreation or conservation. There is very little natural woodland left.
Coniferous trees have been planted in the UK for timber. They are often planted in lines and look unnatural, when they are felled the landscape is left bare.
Settlement — Lots of factors influence where settlements develop including; water supply, defensive positions, bridging points and the availability of water. Over
time settlements grow and further influence the landscape including; concrete used which affects drainage patterns, rivers being diverted through underground

How does human activity shape the physical landscape?

channels, rivers straightened and embankments built.

Industrial growth at ports- Port Solent in Southampton is an oil and chemical refinery. This land was salt marsh as it provides flat land and is sheltered water.
Building here removes the natural flood barrier making it more likely that the city will flood and erode.

Coastal management — Holderness suffers from coastal erosion. Groynes are built along some parts of the coast but not all. This increases erosion in some areas as
the groynes trap the sand and make the beach narrow so it can’t absorb the wave energy so the cliffs erode.

What shaped UPLAND UK landscapes? LAKE DISTRICT, NW England.

Geology: More resistant rock is found here.

Weathering: freeze thaw occurs here as temperatures drop
below freezing. This creates loose ‘scree’ at the base of cliffs.

Slope processes:
Rockfall occurs here
due to loose rocks
created by
weathering.
Landslides also occur as there is high rainfall
(over 2000mm) making the ground heavy

Glaciers: glaciers ploughed through the north of
the UK widening river valleys and changing the
landscape. They created many lakes in the Lake
District and U shaped Valleys.

How has tectonic activity shaped the UK landscape?

Active 520 million years ago the UK was closer to a plate boundary so it had active
volcanoes volcanoes which erupted and cooled to form igneous rock e.g. basalt.
Plate Plates met causing rocks to fold and lift creating mountains such as the Lake District.
collisions This rock is hard granite so is more resistant.
Plate 345-280 million years ago Britain was in the tropics and partly under water! This

created ift li e.g. Peak District, N England, S Wales and SW
-UK England. The West Ewit
position youngest rocks

are chalks and Millzzone gt Mititane grit

clays in S England Edge \A

- these form

lowland

landscapes and

are easily eroded.

What shaped LOWLAND UK landscapes? The Weald, South England

Geology: Less resistant rock is found
EREN here e.g. chalk and clay. This formed 7
wmhst - million years ago when the area was
under the sea. Chalk is slightly harder
than clay and it is permeable so water so
there is now surface water but clay tends
to have ] N
rivers
and
streams.. The chalk forms an escarpment made of a
steep slope (scarp) and gentle slope (dip).

iy sk Scam cpe
Pasune steep, 1t8n tarmirg
fumeng

Tectonic activity: 30 million years ago plate
movement lifted the chalk up and it was exposed to
erosion leaving behind the North and South Down
escarpments.

What processes of weathering and erosion shape the landscape of the UK?
Erosion: This is the
wearing away and removal
of rock. Processes occur in
both rivers and at the
coast, leading to the
formation of distinctive
erosional landforms (see
topic 9 & 10).

2. Loose rocks, called
sediment, are
thrown against the
cliff by wavas. Thia
wears the ciitf away
and chips bits of
rock off the cliff. This
is called asion

1. Water is forced into

Weathering: This is the
break-down of rock into
smaller pieces. It can be
mechanical, chemical or
biological. You need to
have an understanding of
each type of weathering
and where each type is
most likely to occur and
why in the UK.

3. Looso

sodiment, knocked off tha cliff by m&nulc
mkm abrasion, is swirled around
it conatantly collidea with other uealmem md
gradually gets worn down nto smaller, and rounder
sediment. This is colled attrition.

A Figure 3 The three main lypes of coastal erosion

https://unww.bbc.com/education/guides/zsg639g/revision/1 _https://uww.youtube.com/watch?u=pg jKIFDA2A

w light SOLUTION: Minecals are
mnterlal is trrl—nluluuu
by the river

dissobved in s walcr,
This is & cheencal chanpe

—_

TRACTION: |&rgo bouldens
and rocke 5o robiad along
=~ the river bed

)

) .[r-:k o)

SALTATION smsli pabdies and
stones sr@ bounced alang the
' river bed

How does Longshore drift at the coast transport material and deposit
it at the coast?
The waves carry the eroded material away, Some is
caied right out to sea. But a lotis camied along the
wasthne. Like this

B upagan .. i
e




EOGRAPHY — TOPIC 9 (page 50 — 57)
COASTAL CHANGE AND CONFLICT

How does the UK climate and Subaerial processes affect coastal erosion?
UK weather: In the UK, we often experience winter storms (such as Storm Brian, Dylan etc.), which

How do bars, beaches and spits form?
Longshore Drift is the

. Vatmrial mowrd dong Coarire hanges
What are the characteristics of waves? As 3 wave reaches the beach: The water can bring torrential rain and winds in excess of 100mph. These storms bring very large waves and movement of matc_enal s e
running up the beach is called the swash. As the wave loses energy, the water begins to | 11dal SUFEeS, increasing erosion rates. UK temperatures vary with freeze thaw likely in the colder along the beach, via the:
run back down the beach to the sea, this is called backwash. north. swash and backwash.
Constructive Waves: Sub-aerial processes (weathering and mass movement). See UK landscapes KO on weathering Eh's m_"f"'emlelm du;eahes
Canstructive waves ho 3 lower ; i Slumping:. Rockfall: lepositional landforms. /
conmacitns wavrs foslstr i lc-;a;nste “;::;%L:vnenergv, Beaches form when -
B femrac s J Stronger awach o Original eroded material is ] [ra—
Tram he stron swash - L ! potential + - position transported by
= aterial d | -
— srangensshand swes  METENEN 15 Carried up siumping - longshare drift and
> bachaih the beach and slumping ] OCeLrs ;ng 'O-n;E:I: a 1
| deposited. !_Isl.l‘f![! af Falling mnepﬂcs:uw?ms mm“: \
osnstvg wives wawshawahigher  Destructive Waves: unstahle ocean jurom rack A spit is a narrow ri.dge — e o
s haight i owerti |
el ) Smf:::dc:uie I cliff that stretches out from kgl
rimong ekl - erosion. They are tal the coast into the sea. Longshore drift moves sediment along the coast until a change in
__// - and :nee :e Rregian of hase the land occurs. This builds up overtime until the spit extends out further into the gap.
o m il bad :.is stronger P4 of slage Saltmarshes begin to form behind the spit due to it being enclosed. A spit curves as wind
/ | thanmm: i st mge \. direction changes out at sea.
material is eroc;ed ~— | A bar is a ridge of sand/shingle across a bay or river mouth. A bar forms through the
) same process as longshore drift.

How do headlands and bays form? How do wave cut platforms form?

Discordant Coastline: Bands
of differing rock strengths
(resistant and less resistant)
face the coast. creating
headlands and bays.

gt of Bk Struciure snd Shape of Coastline on Enosion Rates

Concordant Coastline: Bands
of rock run parallel to the
coastline. limestone
{resistant reck) runs along
the entire length of the coast
rreating rowes

1. Largs oraock,
opened up by
hydraulic action

7. Tha stack
i= eroded
forming

= ST

= e

2. Tha crack grows
into a cave by
nydraulic Action
and abrasion

1
6. This leaves
a tall rock stack

I
4. Tha cave breaks
through the headliand
forming a natural arch

Cliffs are produced through the process of
hydraulic action and abrasion, where
destructive waves erode the cliff between
high and low tide to create a wave cut
naotch. As this notch is eroded, the cliff
above becomes unstable, collapses and is
removed by waves. Below the wave cut
notch, an area of exposed rock is left; visible
during low tide.

How does human activity impact the coast?

Chvsr 20 milllion people s the UK e near te
The Comer, ALOrHE The Holde rmess coast, 29
vl lages have een host due Co coastal croshon.

STl ent

Comstal tourism = BIG businecsl 135 of jobs at
Crawlizh are in tourism. Coests are often
managed for tourkats, auch o bullding groymes
ta trap rediment for banchen.

Touriam

Mo, rallbaays, shippog ports sod ol

P ot The
Southampton
el o opmie,
"

Infrmatructure

= ey,

ST Tae el | SHNHT v
nmr el ener the commt . e
the mediment Budnet and oo
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o inereased coo
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How do human and physical processes shape Holderness?
The Holderness coast is in Humberside, North East England. It Suffers
one of the fastest rates of erosion in world losing 1-2 m per year.
Physical causes of erosion
Soft rock, made of boulder clay which contains small pebbles and day
Strong waves powered by fetch from the North Sea (S00-800km)
slumping ecours her frequently [see boxes above)

L5D moves sand, narrowing beaches 5o the waves erode the land. .
Human causes of erosion —not all areas are protected and sometimes this increases erosion.

£2m spent at Mappleton to protect the 100 village residents; 2 rock groynes built (1951) ta protect coast
road. This increased erosion in Great Cowden to the south as the beaches are narrowed now.
Withernsea: groynes to create wider beaches + sea wall, some rip-rap placed in front of original sea wall
(built 1875) when damaged in severe storms 1232 — these groynes stop LSD and narrow the beaches
further down the coast which increases rates of erosion.

Spurn Point: Eastern side is protected by groynes and rip-rap to protect the gas terminal.

Fismbornagh e

= B abn g

What causes coastal flooding?

A storm surge is a large increase in sea level
due to a storm. High winds push the sea
water towards the coast and low air
pressure at the centre of the storm "pulls"
the water level up, by about 1 cm for every 1
millibar change in pressure. Like waterina
straw!

Thermal expansion is where sea
temperatures rise and the sea expand so the
water rise PLUS ice caps also melt adding to the rising sea level. Caused by climate change.
Storms will increase as the atmospheric temperature rizses so more cold and hot air mix
creating more rain and wind — this can increase the size of storms and waves at the coast. In
Jan and Feb 2014, the UK was hit by a series of low pressure systems [storms), bringing heavy
rainfall and extremely strong winds. The SW of England was worst hit, with some areas having
their wettest January since records began.

How will climate change threaten people and the environment?

Sea level has risen along the English Channel by 12cm in 100 years. This is predicted

1o rise by a further 11-16cm by 2030.
The social/economic effects of this could

The environmental effects of this could

be..
*  flooding may injure/kill people - Erosion may increase so beaches will
- psychological impacts dizappear
- settlements need to be moved or . Spits and bars (depositional

defended which is expensive

- coastal tourism lost so jobs lost e g.
Hornsea or even Bognor Regis! .

- flooding of roads/rail makes travel
difficult e.g. Dawlish, Devon railway
line collapsed in 2014.

- loss of farmland will affect food

roduction

landforms) may be
submerged/destroyed

Maturzl ecosystems/habitats
destroyed e.g. marshes or lagoons in
Holdemess

Erosion may increase and lead to cliff
collapsefloss of more land

Protects base of What are the costs and
cliff. Made of Expansive and
resistant unatmractive, I}Eheﬁts OfaranEEOf

concrets that Restricts access,

deflects energy.

coastal defences?

High cast of
s intenanoe. Can
impact other areas
af the coastlins.

Hard engineering = built
structures

haintains a wide
bBeach and
ALTracls Teurists

Soft engineering = natural

Material is easiiy
e.g. sand

eroded. Needs
comstant
replenishment.

Looks natural,
attracts tourizts
and Is cheap.

Frevents mass
movement, and is
safer for people
using the beach.

Difficult to install
and is very
3 pensive,

ks poutul mfwatc IV GisyMO ntbpeffunarw bb c co.ubfschook/aceb kesize/gecgraphwicoasts]

What is a coastal
management policy?
Planners must try to find

Neo Intervention Ne investrnent in flood defences.

sustainable ways of

managing the coastline, and Hald The Line MiBImtain the Sxstng coastine wiih
do this using a process )
called Integrated Coastal
_lz_:ne Ma:-lagesmheml_[ ICZM). Allow the shoreline to change
is involves Shoreline Managed
Reali ant naturally, but manage this process

Management Plans (SMPs) and the impacts.

being drawn up, which

recommend to de one of

the following things: Build new defences on the seaward

Advance The Line .
side.




EOGRAPHY - TOPIC 10 (page 59 — 70)
RIVER PROCESSES AND PRESSURE

How does the River Tees change from the upper, middle to lower course?
Upper course: Cross Fell is the wwwlindametgsogophy nat
source, around 732m above sea.

Geology: limestone Valley: steeper i m

sides Channel: narrow, shallow. Bornord Casde
Low discharge and lower speed —
due to friction from the rough
surface. High force waterfall. Load:
large, angular stones.

Middle course: Lateral erosion

Coww Geaan
Ressnvce

taking place. Geology: sandstone LApar Courst
. il micdka course
Valley: wider and flatter, prone to ey

=3 m
flooding. Channel: wider and @

flatter Load: smaller and more rounded. Meanders found at Sockburn and Neasham.

Lower course: Mouth between Redcar and Hartlepoaol.

Geology: days, Valley: flat and wide 5.5iles, Channel: wide, deep, Load: small sands and shingle,
round. Estuary mudfiats and sandbanks.

What is a hydrograph? Bar — rainfall; Line — river discharge

jigr;;e " Peak discherge Geolugv:_ impermeable rock
Icumecs) £.g. granite means water
nisrg I/' o reaches the river quicker as it
w it | ‘,hgp can’t |nﬁh:rat_e s0 _the .
Pask | hydrograph line rises quickhy.
Lap rairfal Drainage basin shape: a
60 l Lag smaller drainage basin means
5 - —» water will reach the river more
%g ‘"3"_1,} quickly so the line rises more
BE 32:/ - quickly.

Soil type: clay has small pore
spaces 5o holds very little
WatEer — 50 water sits on the
surface and enters the river
quickly. Antecedent conditions: the weather a few days before a flood e.g.
heavy rain saturates the nearby ground so water quickly runs across the surface
filling the river.

104

What landforms are created in the upper course of a river
WATERFALLS

INTERLOCKING SPURS

H

What influence does climate, geology and slope processes [mass movement) have
on rivers and their sediment load?

Climate: rivers in wetter climates have more water (discharge) so erosion increases as
hydraulic action is stronger because more water means more energy.
Geology: More resistant, harder rock erodes more slowly so there will be less sediment in the
river. Harder rock also means steeper valleys as the water only has energy to erode down
(vertical) not laterally (sideways). Waterfalls form where hard rock sits on top of soft rock as
the soft rock erodes more guickly.
Slope processes: Rockfall is common in the upper course as vertical (downward erosion makes
valleys steeper. Slumping can also add a lot of sediment to the river as during cold weather the
material is loosened by freeze thaw then it is weighed down by rainfall in warmer periods and
collapses into the river.

Why are river floods becoming more common?
Population increase — the UK population is currently around 65 million and rising
s0 more people live on or near floedplains as the country becomes more
crowded. Building on floodplains has put 2.3 million properties at risk as people
create impermeable surfaces out of concrete.
Climate change — this is causing more frequent storms so rivers channels fill up
with heavy rainfall and overflow their channels e g. Boscastle 2004 and Somerset
2014.
Changing land use —the growth of cities means more impermeable concrete
surfaces so rainfall becomes surface run off and enters rivers more quickly. Even
people paving their gardens has an impact! Often trees are cut down so there is
no interception (which slows down the rainwater entering the river).

What are the impacts of physical and human processes on: Valency, Boscastle,
Cornwall?

Intense rainfall of 6 inches in 6 hours filled the river quickly as
a low pressure passed over Cornwall.
The locatien in the steep valleys meant that water did not
infiltrate and ran straight into the rivers.
Confluence of the Valency and Jordan increased the volume
of water in the river.

Narrowing the river channel for narrow bridges led to debris LT EI "
being trapped which forced the water to overflow the
channel. English Chanmel

Urbanisation meant there were impermeable surfaces e g.

the council car park so water couldn't infiltrate and became surface run off.

What are the threats to people and the environment of river flooding?
Examples from the Boscastle floods:
Social: Around 100 people, especially the elderly, were rescued and airlifted by
seven helicopters. Shops stayed shut for the rest of the season, resulting in a
negative multiplier effect for the entire local community. The value of their
homes is permanently reduced, now that Boscastle is associated with a serious
flood risk.
Economic: 25 businesses destroyed; telephone, water, electricity and gas supplies
were all interrupted and had 1o be repaired. Insurance companies paid out an
estimated 20 millicn pounds to repair damaged property.
Environmental: 58 buildings flood damaged, coastal pollution caused as fuel from
cars flowed out to sea. A sewage main burst making Boscastle inaccessible.

Sand and shingle
deposited on
x inside of bend

Bank on outside of ;

bend being undercut !

by lateral erosion i
s /

Meanders

Erosion makes
the neck narrow

Kay

. Aseas of erosion

D Areas of deposition

- o

Now straighter
I —

Cut off / Ab,

meander or

What are the costs and benefits of river hard engineering?
For each of these identify a cost and benefit of using it (50/Ec/En)
Flood walls: Build a high wall alongside a river to
increase its capacity.
Construct levees: These are raised land {usually
walls) either side of the river which increase the
amount of water the river can hold.
Dredging: Dig the river channel so it is deeper
and can carry mere water or line it with concrete
to speed up the flow of the river.
Flood relief channel (aka culverts): Create extra
channels to divert extra flood water from the
main channel. Used in Boscastle.

What are the costs and benefits of river soft engineering?
For each of these identify a cost and benefit of using it {50/ Ec/ En).
Flood plain retention: The flood plain level
is lowered and land is restored to grass and
shrubs which hold more water and release
it slowly.

River channel restoration: Restoring the
river back to its original state e.g_ if
meanders were removed rebuilding them
to slow down the water, removing concrete
and lowering river banks if they were
altered.

What landforms are created in the lower course?

FLOODPLAINS AND LEVEES

i i) il river loses welocity

Deposition scurs ssthe HOW {5 @ delta made?
Heawiest material is

peposited first and the
lightest last

weteen it enters the sea

R

Cisteibaitaries
farm a5 the
main river=—

charmels

— Delta s builtup
in layers




EQGRAPHY - TOPIC 11 (page 72 — 76)

What strategies used to develop rural areas e.g. EU grants and transport?

THE UK'S EVOLVING HUMAN LANDSCAPE Strategy Costs (negative] Benefits (positive)
What are the characteristics of the !ural peripher\f and urPan core? Enterprise zones: Most enterprise zones are in urban 100z off council tax. This saves
Rural means countryside Urban means built up (towns areas. businesses money.
and cities).
Population High — over 200 people per Low, 1 to 100 pecple per sq Regional The funds are really small and you They are widely spread throughout the
density 5q km2 km2 Development grants: | should have most of the capital UK. Really good advice to help business
Age structure Many young adults and Many older and single people already. start-up.
single people
Eu:!nlop'lic Retails —shaps, pfﬂoes and Farming, ﬁshir?.g, mining, . EU grants: Only for people under the EU Helps the poorest people live a better
activities TNC HQs, many jobs and forestry; working from home in average- so doesn’t help everyone. life.
cultural centre e.g. lots of IT, tourism and renewable
rr?L._lseums_ - ENETgY. - Improvements to Cornwall, North Wales and the Places that they have helped have
Settlement Cities, towns, conurbations; | Market towns, villages and transport: Scottish Highlands don’t have improved transport links including the
miix of low and high rise isolate farms; low rise motorways — this means transport Scottish Borders.
buildings; expensive buildings; cheaper property links are poar.
property

How is the UK population structure changing?

1971 . 2015

4 — -

a4

@&
1
¢

4

A

Poputation (thousands) llation (thouss

& Figure 3 Census data showing the changing struciure of
the UK's population — 1971 on the left, 201!

Why have the changes in national migration occurred in the UK
for the last 50 years?
Rural to urban

Areas in the narth migration is
&g Newcistie movement of
Upon Tyne had people from the
stowar growth of : . countryside to the
28, " Landon has the city. Peaple move

highest increase in .
‘populatian of for jobs,
133 education and
culture.
Urban —urban
migration: e.g.

Acrural arez with
high growthis

Corroall which Mewcastle to
Increased by 7.4% London looking
for work.
Retirement

migration means
older people
move and retire to a different part of the UK. Older people often retire to the
coast.

How have the changes in international migration to the UK contributed to increasing

ethnicity and cultural diversity?

Cause of the changes

* Inthe 19505 the UK government encouraged immigration from former colonies e g. Caribbean and
India to fill jobs in transport and industries such as textiles and steel.

* Inthe 2012-15 period many people fled from fighting in Syria and Afghanistan and migrated to
Birmingham and other UK cities.

&= 7 countries joined the EU in 2004 so immigrants began to arrive e.g. Poland, Latvia and Estonia as
all EU members have the right to work in other European countries.

Effects of these changes to international migration

* Inthe 1970s jobs were filled so immigration became government controlled to reduce it

* Meost Eastern European migrants were young so the age structure of the UK changed as 80% were
aged 18 to 34 years as they bring children or have children whilst here.

*  Many immigrants went to cities e.g. London and Birmingham where they found jobs in industries
or services where they fill empty jobs e.g. cheap, unskilled OR skilled e g. DRs

* Anincrease in city population means pressure on services such as schools, hospitals and transport.

*  Migrants often intreduce their home culture to their new area and open new businesses such as
restaurants or religious sites creating a multicultural UK.

* By 1971, about 1 million people had moved to the UK, including 250,000 from the Caribbean and

How has policy has affected migration e.g. EU and Schengen
agreement including ethnic and cultural diversity?

UK Government policy: After WW?2 the UK required workers to rebuild the
country and with so many fatalities they required labour so many people
came from commonwealth countries such as Jamaica. They arrived on the
‘windrush” boat. We also accepted
Asian Uganda's in the 1970s being
expelled from Uganda by the lead Idi
Amin.

The EU and UK policy has increased
migration because of the the
Schengen Agreement (1995). In 2004,
Latvia, Lithuania, Estonia, Poland,
Hungary, Slovenia, Slovakia and the
Czech Republic joined the EU
(accession). This means that people
can move without passports for work from one EU member state to another
so if there is high demand for jobs businesses can find workers. The UK,
Sweden and Ireland allowad free migration of these peaple.

Whiy has there been a decline in primary (e.g. mining) and secondary
[e.g. steel) in the North East of England, UK?

In tha 150, over 100 D00 men in rorh-aast Engiand # Etnel auffrad from choap pearmsas campetitan, in 2005

The ghestl WIS a1 Reccar wis dosad,

+ Shipbusiding et e oiprsesd vhen s
cnunlrie bes g shipa. SHipbuldng

ary Thase Teddy NOLETES wers
tomake steel, which was used io

iy - 95 ne
o

i e |0 de-industrialsation
+ (oal wies gepanand 0 mng 9§ weaa deep, irag sechon %3 acroes narinem England
Litte: e protuso in 1ho nagian e

& Figure 30 Shisvans fing e i Time vt 10702 A Fque 3y The Dominoss’ - coal sleel angmasring 4nd sfiobulaing

Why has there been a rise of tertiary 180a
[services) and quaternary (research) in
London, UK?

anather 250,000 from India, Pakistan and Bangladesh. These were mostly young adults with young
London Docklands: Canary Wharf
The docklands was an important port for bringing in

children, or single men so the population increased.
1800 2008
goods from British Empire colonies. Containerisation

in the 1970s saw the creation of large ships that 8 » oy O
didn’t fit up the River Thames and this led to

unemployment of 10,000 people almost overnight.

However in the 1980s it was regenerated.as there r A
was lots of open space 8 miles from the city proparty

centre. It was also cheaper land to rent for offices

5 . . 1980 TEF 000 1027 000 1 3000
as the city was expensive. Companies located v o e T
there as government incentives and subsidies e.g. il {245 oo Grei000 2358 000
reduced tax rates encouraged banks like HSBC and % rise  70% Ba% 192%
Morgan Stanley. The impacts has however been hat A Figure 2 1 QUELETErY
areas nearby e.g. Poplar are still deprived whilst empioymant i

Canary Wharf has become richer.

‘What is the role of globalisation, FDI, free trade, TNCs and
privatisation on the UK economy?
Globalisation: the world becoming more connected and reliant on each other.

Foreign Direct Investment (FDI): money a company or government spend in
another country e.g. opening businesses, making roads, creating buildings.

TNCs: large companies that operate in more than one country e_g. Coca Cola
{they invest FOI). Tesco began in east London in 1919 and now has over 850
stores worldwide with over 500,000 people in 14 countries. You can find Tesco in
many countries including the USA, Poland & Thailand. Tesco sold value jeans for
£3 in 2007 which were sourced via Tesco agents in Hong Kong, which use
suppliers in China and India. Average hourly wages are only 50p in China and less
in 5ri Lanka. 60% of Tesco's global profits now come from Asia.

Privatisation: when a government sells anything it owns to private companies
e.g. railway services to China or healthcare to private companies such as BUPA.

It furne bbe comfaducation quidss [abwss/ravisiont__ hitps:/hanww bbe comleducation/guides/zxabuns/revision[4




EOGRAPHY - TOPIC 12 (page 77 — 82)
HOW IS ONE MAJOR CITY UK CITY CHANGING: LONDON Case Study
‘What are the site, situation and connectivity of London on a range of scales?
Site: Located on the Thames River, the
land is flat as it is on the flood plain. This
was a ‘bridging point’ during Roman
times.
Situation: It is situated in the SE of
England, in Western Europe. The M25
runs around London and other roads
connect e.g. M1, M11 and M232 meaning
quick access to other cities. Thereare 5
airports so tourists and trade are easily
attracted- London can be considered a
global hub for air travel. Ferries and
Eurotunnel allow for further increase in

& Figure 3 Lovy

aon's racial voad and m

trade which helps to boost FDI.

What are the characteristics of each land use zone in London?

London’s structure is more complex than both the Burgess model and the Hoyt
medel. its main economic function has shifted to the Docklands and now includes
Canary Wharf. In some ways you could say London has 2 CBDs, many businesses
and tourists are attracted to Central London.

CBD - 18* century, West end of London, Shopping streets e.g. Oxford. This area has poor air
guaiity due to traffic congestion.

Inner City — 19" century, terrace housing e.g. Poplar and old industrial factories.
Redevelopment has taken place here e.g. Canary Wharf. Blocks of flats were built here in the
19605 and 70s.

Suburbs — 20th century, this is o mix of terraced and semi-detached housing in the inner
suburbs e.g. Kensington, there is more open space and less pollution.

Rural — urban fringe -This is where most of the post war housing has been built {20
century). Usually in estates of mainly detached and semi-detached houses. These housing
developments were anly possible as mast families now own at least one car e.g. Loughtan.

What are the changing characteristics and parts of London due to
international migration?

Clusters of migrant populations occur as culture
develops. New immigrants can be supported by friends
and family with settling and language barriers. Brick Lane
is an example of immigration playing a role in changing
culture, restaurants, shops selling saris and a mosque are
all evidence of this. The population predominantly living
in this area is Bangladeshi. China town is an example of a
‘diaspora’; the dispersion or spread of any people from
their original homeland.

Migratien influences the character of different parts of the city including; high
percentage of working age in the inner city; ethnic diversity higher in the inner city;
population growth rates increasing due to rapid immigration; evercrowding due to
population increase; high demand for services in the inner city, where population is
growing fastest; cultural diversity with over 200 languages spoken in the city.

'-'\.rhat are the impacts of migration in two differing parts of the city?
1 Newham

» Ethnigity. Cnc of London's most derse borougs - 90% whits, 26 black
Carlbiean and Alrican, 38% AskEn sty Indls, Bangladesh arid Pekista).

* Incame. Low-income aea.

* Housing. Mosty iented. 32% o their progety. 36% fend priueely, 32% mnt
from aodial housing.
= Bervicea. Schocta under preasura caussd by high brth rate. Presaurs on
social sendces with 38% of children iving Frpoverty,

* Culiure. Asian wih seeeral iBmples, mosaues. and AfrlcanAnghcan
churohes. Mery Asan tood shops end small busrissses,

3 Richmand upon Thames

= Ethnicity. One of the |s2st dverss bomughs in Londen - 25% white, 7%
Aslan or Aesan British, Bul many rescents bom oversass — USA, EU.

* Incomme, Wory ligh income ank - B0% Feve prokssiona o maragenal
ceculions, Merage Foome S41 D00 - akncst dautbie u'( Everage

* Housing. Stabla araz whers affuant peo party. 60%
ot thess propecty, 165 s privaledy, Mfrum snlel I:‘m

= Services. Loss pressurs on schoals with fowes ohildrn, but hes higher than
ERETEOE (IELEREE I CARS Tmes,

» Culiture, Fracomnanthy whits e Hass.

‘Why is there inequality in London?

In 2012 London had over 2 million
people who lived in poverty [28% of the
population). This is 7% higher than the
rest of England! The census is taken
every 10 years and the information
below indicates the level of inequality in

[lowrhdlii —

London. This includes education and o - = M

health data. Loncio

| Census data MNewham | Richmond

| Infant mortality (per 1000 live births) 5.5/ 1000 | 2.75 / 1000
Premature deaths {before 65yrs) per 210,/100,000 121/100,000

100,000
| % 19 yr olds with no qualifications 41% | 7%
| % adults with a university degree 26% | B4%;

What challenges has London faced in the past and today?

Deindustrialisation - By 2001 anly 7.5% of
people work in manufacturing (30% in 1971)

This happened when container ships
arrived as they were too big for the
Thames so the docks closed.

De-population - 500,000 people left London
between 1971 to 1981

This happened because the docks
closed so there were not jobs left
here.

Suburbanisation and subseguent
developments in trasnport - Electric railway in
the 1920s & g it takes 30 min to travel from
Guildford which is 50km.

This meant that people could live
further away in cheaper towns with
houses and gardens but still work in
London.

Decentralisation - Retail e.g. Bluewater
shopping centre in Kent and business parks e.g.
Stockley opened in the edge of London.

This attracts shoppers from the
suburbs so people stop going to the
CBD as the edge of town is less
congested and parking is better.

E-commerce — growth of online shopping.
Eg. Amazon/ Amazon prime in London some
items can be delivered in 1 or 2 hours!

Has put pressure on high street
shops. Some have moved to edge
of city, others have had to close.

‘West Ham Stadium, Quesn

. Elizabeth Fark, Stratfor

T

University of East London,
Docklands Campus

Gentrification

What are the impacts of rebranding and regeneration in London?

Re- branding improves a place’s image so that people want to go there. It usually involves
regenearation, which is making actual improvements to an area. The London Docklands

were regenerated and rebranded in the 1980's —90's. Canary Wharf is now classed by many
-a5 the ‘CBD" of London. It had many impacts...

Nepative Impacts
+ Many local peaple were forced ouf. 36% of
the locel populetion wers unckilled workers

Positive Impacts

Transport finks were [mproved — the new
Dooldands Light Raffway and Jubiles Line extension

carry thousands of passengers every day. and most lived in coungil dhumg +s;-n c!u;l?n
e : ; d the new housas and weren't suited fo
The enironmant has been improved and quality afford suited

green spans orested, e.g. the Thames Barrier Park. | fhe new jobs.
Businesges have been attracted back, creating

reepey hert ic now home fo many media gommunity centres olosed, and ware replaced

with gervices for the wealthier newoomers,

it . Barclays.
m: lI:da-a ::rgl gbp_eﬂ glrjinph h:’l .4 expensive resteurants and arfican bakerles.
o ) o qﬂﬂﬂd il ! ch r e and Elﬁi- L EI-Sﬁhﬂ SOmmUL tes were cga{mged — local
_-_MHBD fiorf bsiiduads hive ] penpln were moved fo new foing and patales

on the adgs of London, e.g. Chigwell in Eseax.

+ Qome fraditional businesses, e.g. pubs, and old

What sustainable strategies are used in London to improve quality of life?

Congestion charge (2003) — charging people to drive in the centre of London (Mon to
Fri). It has increased bus use by 6% and the extra money invested in better transport
such as hybrid buses (all new buses are hybrid since 2012).

Working from home — people are encouraged to work from home 1 to 2 days a week
and the % of people deing so has doubled from 4.3% to 8.6% in 2012 (1 in 12). This
only works for certain jobs!

Affordable housing — East Village in Stratford is 50% affordable housing however
houses are still very expensive {£60,000) for people on minimum wage. FIRST STERS
offers part ownership for low income groups e.g. they can buy 25% or 50% of a home
and pay rent on the rest.

Energy Efficient — BEDZED! — Built in 2002, Sutton in South London. The homes use
81%: less energy for heating and 58% less water. They recycle 60% of their waste.
Green spaces — Queen Elizabeth country park has been regenerated in East London.
Before it was a brownfield site with toxic waste. It was cleaned up for London 2012,
Recycling — London aims to reduce housshold waste by 10% by reusing waste,
providing recycling bins and developing waste burning power stations. One third of
the fuel used in the Energy Centre in the Olympic Park is househeld waste which heats
water for the whole park.




EOGRAPHY - TOPIC 12 continued (page 81 — 82)
What is the A e W B m—
rural urban m i Henchureh
fringe? Pk Dagentam -

i m Tanvay
Crockenhill, Lenden m —
Sevenoaks. Grays

I o ! Dartford Cravesang
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How are urban areas like London interdependent with the rural fringe like

Sevenoaks?

How are London and Sevenoaks connected?

Labour

Around 40% of people in Sevenoaks district commute to London for
work. Students and young professionals move to live close to their
work and entertainment e.g. in Camden.

Goods

London relies on rural areas for food . Many farmers sell their
products to wholesalers who transport it into the city.

Many rural people travel into London for shopping as there is a
greater selection e.g. Harrods .

Services

London has specialist hospitals such as Great Ormond Street
children unit as well as private schools so people travel from rural
areas to use them. Often Londoners travel to the countryside for

leisure activities such as golf or walking.

hange to rural areas?

Forecasts suggest that between 2001-2026 the number of people of working
age will decline and those 65+ will increase by 50%.

» Almost all of Sevenoaks District residents identify themselves as “white” and
were born in the UK.

» The population of Sevenoaks District is well educated with 20% of residents
educated to degree level or above.

# Car ownership is significantly higher than in Kent, the South East and England.
» A high proportion of Sevenoaks residents use trains as their means of
travelling to work, more than three times the South East average.

» 45% of the resident workforce in Sevenoaks live and work in the district, 20%
commute to Inner London and 15% commute to other Kent authorities.

# 55% of the workplace population in Sevenoaks live and work in the district,
25% commute from Kent authorities and 10% commute from the Outer London
Baoroughs.

* Sevenoaks District has the second lowest level of deprivation amongst
adjoining authorities and is the 59th lowest in the country.

What is an accessible rural area?

i

i
]
I

~

. Sevenoaks has many bus

routes and a train station to

enable people to commute easily
to and from London, as well as
other parts of the SE region.

. It is a 24 minute commute
via train to London with trains
running regularly throughout the

day.
. It is also vary

straightforward to access the M25
from Sevenoaks, taking just an
hour to drive to the city centre

(traffic dependent!)

‘What impacts does this interdependent relationship have for the city

and rural urban fringe?

Social

Economic

Environmental

+ Some buildings have been
turned inte homes and
renovated e g Kent oasts
(old farm buildings) and sold
so there is a bigger
community.

- Some schools/GPs in rural
areas close due to lack of
people e g. there is no
secondary school in
Edenbridge, Sevenoaks.

- Commuter trains in London
are packed with people and
overcrowded.

+ There is less pressure on
houses in London as people
move to rural areas nearby
so more people can get a
house.

- Commuter settlements are
empty during the day as
everyone |leaves for work in
London e.g. vy Hatch,
Sevenoaks.

- House prices in
Sevenoaks are 7x higher
than elsewhere in the
UK (except London) so
young people can't
afford homes.

+ Farms have been able
to diversify and earn
money through tourism
e.g Tanner Farm Fark

has a large camping site.

+ Businesses e.g. pubs
have seen an increase in
CUStOMErs a5 Newer
residents arrive with
higher incomes.

- Companies in the city
don’t have enough
workers so commuters
add to the workforce.

- Loss of fertile
agricultural land as
land is sold off to build
more homes.

- New housing estates
have been built for
commuters which
destroys wildlife
habitats e g. Dunton
Green, Sevenoaks.

- Commuters drive to
the train station in
London which
increasas traffic and
air pollution in rural
areas.

- London congestion
has also increased
with commuters
driving to the city.
They had to bring in

the congestion charge.

The Congestion
Charge is an £11.50
daily charge for
driving a vehicle
within the charging
zone between 07:00
and 18:00, Monday to
Friday.

What challenges do changing rural areas face like Sevenoaks face?

Employment: Some employment deprivation in areas like Swanley. In addition,
increases in technology for agriculture have decreased the number of workers
needed in rural areas. In Kent, manufacturing has declined by more than 30%.

Housing: Sevenoaks district is among the 30% most deprived arsas for housing
affordability. Mush higher housing than the UK average, which creates
challenges in providing affordable housing for young people whose income is
often lower.

Health care and education: Ageing populations require more healthcare.
Schools are closing down duea to declining numbers of pupils, .g. there is no
secondary schaol in Edenbridge. This means that the eldarly may struggle to get
to healthcare further away and children may have to travel further distances to
access education.

2) Bome farmers are finding alternative ways of making money, sither by farm-based sctivities or
Rural diversification includes:

by starting 8 new business. This is known ae rural diversification.

i;rm shops

| Accommodation

e
Lalaiira-aothyities
| s

How has rural diversification been used to regenerate rural areas like Sevenoaks?

hill Far ..hwnningtun
Kent has opened a ferm shop

i'--fn:rmihair.u

turned some 1nml into & large
touring ceravan and camping
[park.

2) Iourism oan aleo create new sconcmic opporiunities In rural aress.
ie & historig building thet hes developed various attragtions {e.g. a maze end golf course) and everds to
encourage more people to vieit. However, thiz can mean that pew toyrist fagilities are built on greenfield
land and lead to an increases in traffic congestions

iLalge caravan parks can be ur
| Thera is mare pr:

Lsnd oan conﬂnus ta be farmed.

: of crop are grown using more
frigndly methods than mone
: crop for eupermmlcmj.

_5J"_J

as uf:-r

on fhs

tha large humbm-o of vizito
| water and et

lh.rnugn ihemannd usa of
4 and the smount of wasts gomrn-fed

witure

yiment from

i io oreate Car parke
= in the area, !ealilng to o

For example, Leeds Castle (in Kant)
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EOGRAPHY - TOPIC 13 (page 84-85)

COASTAL FIELDWORK: FELPHAM BEACH

1. How do the coastal defences impact on coastal processes and communities in

Felpham?

Reasons for title: Gives the study a direction, we therefore know what to test. The title is easy to
investigate using simple equipment.

Why the location was appropriote: We can easily walk there and back in a day, meaning it allows
for maximum time collecting data.

Justification for your choice of areas to investigate:

*  We used secondary data via the BGS map to find a coastal location, near to our school
that has been affected by coastal processes and has been protected using coastal
management strategies.

*  From this we were able to devise tests and pick the correct equipment to find out if this

2. Secondary data — BGS geclogy map

. i Folphn, B S &
What does it show? e
BGS geology map. k T sl
Information about '.
where differenttypes
of rock were located B‘;\,
along the coast. ¥ 1 m
Pl oy CRali Forvaion - AL, Seclneritrs
s marccinaty 7113 bl e
, ai2in i Coutacaceu Patist, Local ket
What does this e N A e
mean? Tells us the AR RUN S T BT
rack type is
sedimentary and we can assume the processes: Erosion is
more likely on areas of less resistant rock.

our primary data out.

— st_an:n:::r',' data wals_ true. N _ estieat Fvaluation of this data:
e arsk whnen com ] your numan K Inwesty on: -
+ Offidial government collected data, so large sample =
Risk Why? Mitii Rank score reliable 8 g P
Tide coming in whilst completing Drowning Check tide times. Do fieldwork while the tide is Severity 5 xRisk 2= 10 -

- Only done every 10 years so it is out of date as this was
last done in 2011. This means | cannot link my primary

Slips and frips on the groynes Cuts, Bruises, Grazes | Mo dimbing on the groynes and sea defences.

‘Work im small groups. First aider with group.

data to this effectively.
- only indicates the suitability of the area, but no other

Severity 2 xRisk3=6

information about the impacts or management.

3. Secondary data — 05 map

‘What does it show? This map shows the communities behind the coastline and shows
a selection of different businesses including a café and sailing club. The map zlso shows
‘the use of groynes to manage the coastline and trap material from travelling east along

the coastline.

‘What does this mean? This shows us that this is a good location of study asitis
defended by a hard enginsering strategy (groynes) to try to stop LSD (process), in order
‘to build up the beach and protect the community living and working here.

Evaluation of this data:

+ Officially recorded using accurate scale
1o show realistic sizing.

- Only updated every 3 to 5 years, 50

4 Management strategy may have
changed/ been lost or the coastline may
hawve changed shape.

e Bognor Regis
BOGNOR REGIS

4. Primary data: Groyne height drop {quantitative}
How? — Measured top of groyne to the beach on east and west side
= found difference.

Why? - Help show how the groynes effect LSD and if they effectively
protect coastal communities.

Sampling — We used bias sampling — measuring each groyne once
where the greatest drop height existed = gives strong evidence to answer the key
question. Did it 5 times (5 groynes) = mean worked out = anomalies removed = accurate.

Evaluation of this data:

+ Recorded results 5 times aleng each of the 5 groynes, to enable us to calculate a mean
for each groyne and therefore remove any anomalies.

+ Data from 5 different groynes allowed us to measure the trapping of material along a
wide sample of beach to increase the reliability of results.

-Used random sampling to decide where our 5 sites along the groyne would be which
miay lead to inaccuracies. Systematic along a transect would have been more reliable.
-Only measured it on 5 groynes, so a larger sample of groynes may have been more
accurate.

5. Primary data: Sediment size (quantitative)
How? — Measured the long axis of 5 pebbles at 3 equally spaced
points between two groynes.

Why? — Sediment will get larger as we move from the west side of
the beach to the east side, as this is the direction of LSD.

Sample — Did this 5 times measuring the long axis of each pebble at
each of the 3 sample points = mean worked out = anomalies -~
removed = accurate.

rIl
£
b5
Evaluation of this data: A
+ Counting 5 pebbles at 3 sites along one stretch of beach, meant that | could calculate a mean
pebble size for each of the 3 sites and therefore remove anomalies.
+ measuring the long axis each time helped to remove inaccuracies.
- Used random sampling to select the 3 sites — data is not accurate as systematic sampling along a
transect would be more reliable.
-Only 3 sites chosen along ane stretch of beach between 2 groynes = small sample size = not
necessarily representative of the whele stretch of coast.

6. Primary data: Photograph {gualitative)
How? — Took a picture of the coastal
defences and the community behind
Why? - Visual evidence to link to our
quantitative data.
Sample — We did this once, but tried
to cover as much of the beach as
possible, so that the coastal defences
and community were fairly
represented.

Evaluation of this data:

+ Visual representation to support quantitative data.

+ Shows housing/ communities and groynes being used as management.
Shows material building on the west side and lower on the east to support the
view they are stopping L3D.

-Staged = bias

7. Presentation of primary data: Bar graph to show drop height

Evaluation of
method:

A groph in shoss beach Srop height st 5 growes
) + Easy to read
. + Colours make it
easy to compare

P’ II I I east and west
| - — 0 0 + Excel produced =

’ E i accurate.

w -Axis goes up in 20°s
T = can't extract data

accurately.

Grone drog helght inem
[

Humber of groyres stdod

8. Presentation of primary data: Dispersion graph to show sediment size
Dispersion graph to show pebble size at 3 Evaluation of method:

different points, between 2 groynes
+ Shows each recoding of

. pebble size in each
location.

+ Use of excel = accurate.
Some points on

top of one another =
difficult to read.

- X axis goes up in
25 = difficult to read to a
decimal place.

-
L o e Mean 7.24

hean 486 g3 -

. .*.

Long axis in cm

B I* Maoan L9 g

site

9. Overall conclusions:

*  Wooden groynes are being used effectively to defend the impact of
coastal erosion and prevent longshore drift from West to East at Felpham
beach.

*  |nturn, these groynes have enabled the beach to build up, therefore
protecting the coastal communities behind.

Reliability of my conclusions:

+ | found a significant difference in regards to the beach drop height between the
east and west side, of 52.42cm = dlearly shows the groynes are stopping LSD
making a wider beach = protecting the communities behind.

+Sampled the groynes 5 times so calculated a mean = unreliable data has been
removed and my conclusion is accurate

-Use of random sampling on groyne drop and sediment sampling means that
results are over exaggerated/ subject to bias.

-Results collected over a short section of beach on 5 different groynes and one
section of beach = small sample = may not be representative.

accurate, reliable results) conclusions.

10. Improving the study:

Groyne drop: How? Use systematic sampling, measure out transect and measure every 1 metre along groyne. Why? Larger sample of data and reduces bias. Impact? Leads to more accurate, less bias and more representative data sample.
Sediment size: How? Use systematic sampling along transect to collect 10 stones at 5 equally spaced sites along transect. Why? Larger sample, reduces bias. Impact? More accurate measure of change in sediment size along beach as more sediment is sampled.
Photograph: How? Construct a transect along beach, and take a range of photographs using systematic sampling, at 3 equally spaced out intervals. Why? Will reduce bias of stopping where we want. Using this method means the locations are pre-determined. Impact? Reduces bias, leading to more




OGRAPHY — TOPIC 14 (page 84 — 85)
URBAN FIELDWORK: BRIGHTOMN

1. How and why does guality of life vary in Queens Park Ward, Brighton?

Reasons for title: Gives the study a direction, we therefore know what to test. The title is easy

to investigate using simple equipment.
Why the location was appropriate: We can easily get there and back in a day, meaning itiz a
cheap trip and allows for maximum time collecting data.

Justification for your choice of areas to investigate:
.

Identify a risk when

We used secondary data to find two areas of significant difference in deprivation
within Brighton. We picked Queens Park Terrace = Low Index Multiple deprivation =

Higher quality life. We also picked Ashton Rise = Higher Index Multiple deprivation > Lower guality of life.
Therefore, the secondary data enabled us to pick twio contrasting areas. From this we were able to devise tests and
pick the correct equipment to find out if this secondary data was true.

your human fieldwork investigation:

Risk Why? Mitigate

Traffic accident Mear busy city roads ‘Cross roads at traffic lights. Follow the
‘Green Cross code

Getting lost Unfamiliar lecation Arrange a meeting point, work in close
proximity to teacher.

2. Secondary data — Census

- What does it show? In Queens Park
Terrace there is a greater level of
awner occupied housing at 82%,
whereas Ashton Rise's level of

B owner occupied housing is 13%.

What does this mean? This means
that quality life is better in Queens
Park Terrace, as people most likely
have higher incomes and can
therefore afford @ mortgage.

Evoluation of this dota:

+ Official government collected data, so large sample = reliable.

- Only done every 10 years so it is out of date as this was last done in 2011.
This means | cannot link my primary data to this effectively.

3. Secondary data — IMD

What does it show? This shows that the
— Living environment, income, and
employment in Quesns Park Terrace is in
__the 10% least deprived areas based, whilst
Achtorr Rise is in the 10% most deprived.

What does this mean? This means that
the quality of life is likely to be
significantly better in Queen's Park Terrace, and not just in regards to income, but
also environmental quality and sodal indicators.

Fvaluation of this data:

+ Official government collected data, so large sample = reliable.

- The areas mapped show an average for the entire area. Therefore, it does not show
those individual households in each of the two areas which could be significantly
different.

4. Primary — Qualitative - Questionnaire survey

What did we do? Asked 3 closed questions,
termed strongly agree to strongly disagree, in
both Queen’s Park Terrace and Ashton Rise.

Sampling? Random sampling, 50 people in total

[25inea

Benefits

ich area).

of sampling? Large sample size, meaning

a range of answers, avoids bias, gives fair,

accurate

Problem

opinions of Q0L in each area.

s: Randem sampling resulted in us asking

peaple in groups. This can lead to biased

opinions,

, 85 people in groups often hold similar

views = results therefore could be inaccurate,

leading t

o over exaggerated conclusions.

5. uantitative — Environmental gu. surve’

What did we do? We compared the environment in the two
locations, by completing an EQS, with a scale from -2 (v. bad)
to +2 (v. good)

Sampling? Completed the survey 3 times in each location, at
random peints.

Benefits of sampling? Doing the survey 3 times in each
location means a mean can be worked out = anomalies
removed = accurate results = reliable conclusions.

Problems: The EQS is subjective, so the scores might over
exaggerated particular results, based on our pre-conceived
ideas of the places before visiting.

We did not have equally spaced intervals between our 3 stops
to record. Again this could over exaggerate our results, as we
picked to stop in places that would reflect our pre-conceived
ideas.

6. Primary data presentation - EQS shown via a radar graph

Radar Graph showing the EQS of Queens Park vs What do the results
Ashton show?
* Queens Park has a
s Park Fise Lausnder Srest hig‘lermeanscore for
Buildings the envirenment in

each of the categories.
* Shows environment
is better in Quesn's
Park. This supports the
secondary data and
the qualitative data.

* Significant difference
eg. 2.6 difference in
traffic score.

Geresal qualiy Trfic

Dipen spce) pardens

Evaluation of presentation technigue:

+ Easy to compare areas, as the lines to represent them are shown in different
colours. As a radar graph is used, it is easy to see differences due to the spatial
distance between the lines.

- The axis goes up in 0.5. This makes it difficult to interpret the data accurately
as, some of the scores were 0.32 for example.

7. Primary data presentation - Bar graph to show guestionnaire results

Caueans Park

‘What do the results show?
® Queens Park scores better in all 3 categories.
* Shows quality of life is judged better by the residents in Queen’s Park Terrace; this
supports the secondary data and the quantitative EQS data.
* Significant difference e g. 353 people disagreed that Ashton Rise provided jobs, whilst 35
thought Queen’s Park Terrace did.
Ewvaluation of presentation technigue:
+ Easy to compare areas, as the bars are shown in different colours, orange, blue and grey
for the three questiens asked = easy to make comparisons and spot differences.

+ Excel used = quick and easzy to make, also acourate.

- There is a lot of data on the 2 graphs, as the 3 questions have 4 categories, and there are
two lecations. This can make it confusing and therefore difficult to compare questions
easily.

8, Using an annotated sketch map, explain how

you chos:

& your sites or location for data collection.

(4 marks)

WAGOLL:

We picked the
twao locations as
they show
contrast in QOL
(1) and are close
together so we
can collect
engugh data
easily in the
— time. (1)
Additional 2
marks are

collected from a detailed map showing the sketch
map of the area chosen.

9, Primary data presentation - Photo annotation presenting
photo analysis (Qualitative)

‘What do the results show?
#® Building quality is better in Queen’s Park Terrace — front gardens,
lower density = better Qol a5 more privacy etc.
* Links to, and supports the secondary data and the qualitative and
quantitative data.

Evoluction of presentation technigue
+ Visual information, which can be used to support the quantitative
and qualitative data, through annotation. Bringing results to [ife.

- Only @ snap shot in time, can be misleading and show bias from the
photographer = inaccurate results as they will be over exaggerated.

10. Overall conclusions:
® The Qol is higher in Queen's Park Terrace in comparison te Ashton Rise. All of the
data [primary and secondary) supports this.
* Significant differences in environment, employment, building quality betwesn
locations. All of the data triangulates this, supporting this conclusion.

Reliability of conclusion:

+ V. reliable due to the significant differences in findings, supported by al
infermation. For example, the data from the EQS shows significant differences of
2.6 im terms of environment. This relates to the questionnaire, which shows there
are significantly more jobs in Queen’s Park Terrace, both of which support the
Census and IMD data.

+ Sampling strategies were used to reduce bias and inaccuradies, including asking
the guestionnaire to 50 people giving 2 big range and conducting the EQS 3 times to
work out 3 mean. This removed anomalies and gave accurate results and a reliable
conclusion.

- However, our gverall judgement is only based on the areas of Queen's Park
Terrace and Ashton Rise and therefore it is not representative of the whole of
Brighton as an urban area.

- Qur zamipling methods had significant limitations — refer to boxes 485 - therefore,
our results are likely to be exaggerated, possibly inaccurate and conclusions
unreliable.

11. Improving the st

Questiomnaire:
How: Use systematic sampling, asking every 5™ person that walks past.
Why: This will reduce bias of asking people in groups.
Impact: A range of opinions, reduces bias, leading to more accurate, reliable results/
conclusions.

EQ5:
How: Construct 3 transect through Queen’s Park Terrace and Ashton Rise before we go,
and then record the EQS using systematic sampling, at 3 equally spaced out intervals.
Why: This will reduce bias of stopping where we want. Using this method means the
locations are pre-determined.
Impact: Reduces bias, leading to more accurate, reliable results/ conclusions.

Photograph analysis:
How: Construct a transect through Queen’s Park Terrace and Ashton Rise before we go,
and take a range of photographs using systematic sampling, 2t 3 equally spaced out
intervals.
Why: This will reduce bias of stopping where we want. Using this method means the
locations are pre-determined.
Impact: Reduces bias, leading to more accurate, reliable results/ conclusions.




BICEOGRAPHY — TOPIC 15 (page 87 — 93) How does the climate (temperature and rain) influence the characteristics How do local factors influence the distribution of biomes?

and distribution of biomes?
PEOPLE AND THE BIOSPHERE s ‘ ‘ o
Climate is the average temperature and rainfall measured over 30 years. Cadry g s o Hommwsdy oo Local factors are difference that alter animal and plant species in a biome.
A biome is an area of the world with similar plants, animals and climates e.g. a desert or Pelar 0 A> - 9 Rock and soil type: soils can be neutral, acid or alkaline as when rocks break down
rainforest. Tendrd S: falnial through chemical weathering they release nutrients into the soil.

2 Co0l 2 Nors

Water availability and drainage: some plants prefer drier soils and others wet soils.
How wet the soil is, is affected by Why does Temperature drops at higher Altitude?
the amount of rainfall, the amount

of evaporation which is affected Air : Less Dense

by temperature and how Less compact \ ﬂ
permeable the soil is (high easily Less ability to v ‘

The biosphere is the living part of the earth (plants and animals)
An ecosystem is a smaller biome e.g. a specific desert or rainforest e.g. Amazon rainforest.
The taiga is also known as the coniferous forest.

water can pass through it). absorb heat
Altitude (height of the land): Lower temperalure
temperature drops by 6.5C for
every 1000m increase in height.

Yop o
Caicam

& This means few i Akr: Denss
plants grow higher
A, <t | g FersiCell | UP a5 it is too cold. Rainfall often Moy compact
e 3 @ Low pressurs: rainial increases with height. mz‘ﬂ’,":‘:‘y 1o
' t Polar Cell Higher
Cacl3Soum ign pressure: dry Jmpersturs

How do the biotic (living) and abiotic (non-living) components of a biome What goods and services does the biosphere provide for people? How does the biosphere regulate the atmosphere, maintain soil
interact? health and regulatesthe hydrologicalcyce?

Bi Oti C VS. Abi OtiC F actors The abiotic factors Thess sre prodiucts obtained These kesp the ecosystem The blosphere_ stores carbon in the caljbon cyclg. Italso m_alntams soil health as dead
Y e.g. the sun provide from ecosystems: healthy so it can provide the plants and animals rot and become soil humus in the nutrient cycle. Plants and trees
s =y for bioti * foodk: nuts, berries, fish, game, crops  other services also store water and release it through transpiration into the atmosphere.
Living Non-Living energy for biotic o fuelwood * nutrient cycling
components ie plants. e timber for buildings and other uses * photosynthesis and food webs . The nutrient cycle
E):::‘? sles s aé Eﬁ:::r'es P P ¢ genetic and chemical material. * soil formation
e Fungi’ e = Soil soil as they move These services link to other physical Thesae are benefits pecple
o Bacterid o Alr 2 i systems and keep areas, and the get from visiting, or living in, a
3 o Temperature through it making it whole planet, heaithy: healthy ecosystem:
o more fertile. * storing carbon, and emitting * recreation and tourism
’.f\ oxygen, which keep the atmosphere ¢ education and science
in balance * spiritual wall-baing and
N \\\ * purifying water and reguiating the happiness.
- flow of water within the hydrological
munla
How is the biosphere being exploited for energy, water and minerals and What are Boserup and Malthusian theories on resource use? Interpret a range of graphs including population projections.
why is demand for those resources rising? In 1798 Rev. Thomas Malthus thought the population would rise geometrically (1,2,4,8, The projections for the future vary greatly on the graph below as they are
16) but food could only increase arithmetically (1,2,3,4) and so he argued thatasit did we | dependent on a variety of factors including access to food and water, healthcare,
*  Rising global population: The population has risen by 3.4 billion since 1975 and more w::ltlierun out of food : Natural chedies suciias war antl famine. ol il oft the extia income and all other factors that affect birth rates and death rates worldwide.
people means more demand for food, water and energy so forests are cleared for peope: - A e 2
farmland In 1965 Esther Copyright
1 Nenw farming technoiog e 5
* Rising affluence: People are more wealthy now as earnings have risen on average by margued bt oy - Mactilizers o= e
$6700 so people use more goods and energy e.g. computers, fridges, washing machines. . \ o GCsE
0 . - - 2q2 - - \ arm ,Most ket
*  Urbanisation: More people live in cities now globally (55% in 2015) which have taken \ mschinmey 2 Mostaty | Geography
x Ui 5 out of food we § ¥ Irrigmtion — (2016)
over biomes even deserts! This also increases demand for water and food. would invent 8 oo 3 o 3
e Industrialisation: Since the 1970s many countries increased their industry and factories ways to create g 4 . Populaiion Digby et al,
especially Asian countries such as China. In 1998 China had ne high speed railways but more e.g. GM g Grinis fat Oxford
by 2015 it had over 200km worth; Cars in India rose by 24 million from 2000 to 2015. S i ; e University
i : ise i ion in Asi o > (@xpon Press.
*  Asian grmfnh. There has been : clear rise in population in Asia (more than an4ywhere technology bt iy deeb o
else). The impact on resources is vast since 1975 and by 2015. water use has increased R e 1950 2000
by 70%, oil by 220%, coal use by 624% and meat consumption has risen by 513%. combine S P NI Rt NG AR Yoar
harvesters She Food supply growth scoording o Boserup
had a positive outlook. A Figure 3 World population profections to 2100




OGRAPHY - TOPIC 16 (page 95 — 100)
WHAT ARE THE THREATS TO THE TROPICAL RAINFOREST
BIOME AND HOW CAN THEY BE REDUCED?
Most rainforests are found between 20 degrees north and south of the
Equator as air here rises due to its location close to the sun and there is low
pressure and lots of rainfall.
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How are biotic (living) and abiotic (non-living) components
of the rainforest interdependent?

1. Soil, rock and air are abiotic factors. Animals and plants are
biotic or living factors.

2. In the rainforest photosynthesis through plants (biotic) removes
carbon dioxide from the air (abiotic) and produce oxygen.

3. Animals (biotic) also produce methane which is a gas in the
atmosphere /
air (abiotic).

4. Biological
weathering is
where plants
and animals
(biotic) break
down rock into
smaller pieces
(abiotic).

neawton

ABIOTIC COMPONENTS BIOTIC COMPONENTS

Mot s
resraned
Pryoy

What is the structure the rainforest?

WV Figure 3 The struclure of a tropics
40

2 rainforest
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Why do tropical rainforests have a high rate of
nutrient cycling and biodiversity?

The nutrient cycle in rainforests
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How have animals and plants adapted to live in the tropical
rainforest?
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Some plants have also developed ‘drip tips’ so that water can run off them
and bacteria does not grow on them in the humid conditions.

What does the rainforest food web look like?

“Bird= )

Madagascan

((Snakes J

(Bats )
X
(Butterflics J——-( Spiders )

g i

Beetles )

( Decomposzers ) [ Worms.
( Fungus ) (( Bacterio )

Flgure 7 A food web for a Madagascan tropical ralnforest
ecosystem

High levels of bicdiversity result in complex food webs!

What is the climate of the rainforest like?

Key
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The warm, moist conditions mean that fungi and other

bacteria decompose the dead organic matter quickly —

nutrient cycling is rapid!

What does the nutrient cycle look like?
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What causes deforestation in the rainforest e.g. logging,
agriculture, fuel
and energy?

W Figure 1 Oirect &
of delfkc aticn in Amazonia

uSes

Deforestation is a
DIRECT threat to
the rainforest.

In addition, the
rainforestis being
cut down to grow [ cCattle ranches 60%
biofuels such as == asé’:‘c'l":sz"é;;‘ﬁb‘i""""“
palm oil, to extract

=) Fires, mining, urbanisaton, road
minerals such such construction, dams 3%
as copper and to

| | Logging, legal and illegal 3%
Large-scale commercial agriculture

create HEP = including soybeans 1%

electricity by

damming rivers and flooding acres of rainforest as a result.

Copyright images: GCSE Geography (2016) Digby et al, Oxford University Press.

What is the impact of climate change on the rainforest e.g.

ecosystem stress?
Climate change is an INDIRECT threat to the rainforest as it doesn’t
involve deliberately cutting down trees, but still leads to damage of the
ecosystem.

Drought: The Amazon rainforest has had 2 severe droughts in 2005 and
2010. The Amazon switched from absorbing CO2 to emitting it as plants
stopped growing. Rainforests are important carbon sinks (stores) and if
damaged they no longer store it causing further global warming.

Ecosystem stress: The nutrient cycle is affected as the humus layer dries
out, trees die out and this affects food supply for plants and animals.
Fewer trees also means less rain as water is not stored in the plants or
evaporated back into the air. (Review topic 15 and how trees reguiate the
water cycle, nutrient cycle and carbon cycle).

Loss of forest: Drought can often lead to forest fires, in which large areas
of trees burn and are lost.

How effective are global actions (CITIES, REDD)
designed to protect the rainforest?

Strategy Adv + Disadv -

CITIES: is a Its global so It protects species
global countries work not their habitat so
agreement better together | they could still die if
on to control | to stop illegal their home is

trade of wild | trade and destroyed and not all
plants and educates countries are
animals. people. members.

REDD: Deals with the You can still cut down
rewards cause of climate | rainforest as long as

forest change directly you replace it with

owners in and is relatively | other foreste.g. palm
poor cheap to do so. oil. This may affect
countries for local communities
protecting who need the wood
them. for fuel.

http://www.coolgeography.co.uk/GCSE/Neart/Weather,Climate/L ocation%%200f%20World's%20F orests/locationforests.htm

Can local, sustainable, management strategies

protect the forest?
Kilum-ljim — Cameroon, Africa. It is home to 35 communities
from 3 tribes. In 19871 Birdiife International created a forest
reserve in the area. 50% of this forest was cut down from
1958-88 but 8% has grown back since the forest reserve was
put in place. They have a number of strategies which make it
a sustainable project:
Economic: Agroforesty where crops are grown amongst the
banana trees (under them rather than cutting the trees down
s0 locals can still make money).
Social: Eco-tourism takes place here with small groups of
tourists who are educated on the forest and do not damage it
whilst there.
Environmental: Selective logging is practised so only certain
trees are cut down leaving most of the plants and animals
intact.
The best way to protect the rainforest may be to encourage
alternative ways of living from it that don"t involve
deforestion such as Eco — tourism and Sustainable farming.




GEOGRAPHY — TOPIC 17 (page 101 — 104) What is the structure of the Taiga forest and how do plants adapt to life there? Why do Taiga forests have a low rate of nutrient cycling and
W Figure 3 Taiga forest and plant adaptations biodiversity?
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What are the threats to the Taiga/ Boreal biome L T AR S
and hOW can they be reduced? coniferous trees helps oo

shed winter snow.
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pine and fir are
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ASNA a dense canopy.
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Only terns, mosses and * Most nuinents are in the litter because pune
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floor because it is dark release NUtNonts siowly.
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AZC 4G 2 mia land' t)c:nd Li(‘_)'.\u\wurd — o RCar e, denes Canopy. * The biomass store is small because tress grow
© shec MOter sNnow = - ~
2 And Not EYeaK Tree roots are shallow, but O A S e
3, oc _wide to support the tree but Net primary productivity (NPP) is a measure of how new plant and animal
P~ L Thare is a thick layer of avoid frozen ground below growth (biomass) is added to a biome each year.
s Bl“"l.b,"‘: pine needles on the _—- 1-2 metres below ground soil
- g =y, oy oo, o beidin ok 'r;‘;';',f,',:',; ADETIENI NPP is around 800 grams per square metre in a year for the Taiga/Boreal
1OELARD e i ,f,.,,..,“,. o plants - penetrate; in summer the soil forest. This is higher than 140 NPP in Tundra but 2200 in the tropical
. ARELAND. . TOMm growing. is very waterliogged .
AT/ A :;1(1.‘ = 5:"‘::‘“ e 2 At S rainforest.
How do animals adapt to the Taiga forest? What does the Taiga food web look like? I What is the climate of the Taiga like? What does the nutrient cycle look like?
Examples include the grizzly bear and Canada Goose. Tai utrient cycle
P grizzly (Greywotr)  (Great grey owl) (Sharp-shinned nawk) 30m Key R )
Thic ".=r. near T y e Average high () Precipitation O BIOMASS
bodyf miles in Migrating birds. — Avirage low ('C) Fallout
" 1 thrushes, sparrows, G Avers
Nycatchers, warbiers = = o F .
- precipitation (mm) . Growth
2 LITTER
= ¥
MODD 15m i
Decay
T * -y
Runofr Leaching Weathenng
Migrates south. | ) @"d'e’) Grasses) Be‘;:iin;ﬁ‘:‘“ om &rall) Size of circle is proportional to the amount
omnivore 163t | e e the Gl i tesnt : S 7 of nutrients stored
pla nd animal ATITAT Akt 3 5 a18 grapn for Fort MoMunray in Width of arrow is proportional to the
S0 It will always have something 50 it can still get access 1o food Figure 8 A food web for a Canadian taiga ecosystem 20a, an area in a talga biome Transfer amount of nuitnents transferred
to eat in the cold environment e SagoTiot kbt : - e .
" when temperatures drop. Low levels of biodiversity due to the cold limate, lead to fewer The taiga has a cold and relatively dry climate. Precipitation will Low temperatures mean that it ték.es a long time for the litter
varieties of plant and animal species often fall as snow through the colder months. to be broken down. Therefore soil is not very fertile and plants
) grow slowly.
What are the DIRECT threats to the Taiga forest? What are the INDIRECT threats to the Taiga forest? Why are there conflicting views on protecting and exploiting What are the challenges of maintaining the Taiga?
The taiga trees are cut down for their softwood which can be used to | Pests and diseases: these are increasing in the Taiga. They reduce forest and natural resources in the taiga? National Parks Status: Wood Buffalo NP was created in 1922 to
build housing and furniture. In addition, they are used for pulp and the value of wood, kill tree species and reduce bicdiversity. The 1) Taiga forests atore lote of carbon — protect bison, lynx, moose and bears. It is north of the
paper production. They are mined and areas flooded for HEP: Spruce bark beetle has destroyed 2.5M hectares of spruce as the deforestation will releass some of thic se Athabasca Tar Sands. It is It became a World Heritage Site in
Athabasca Tar Sands — mining for oil. This covers an area of beetles burrow into the trees killing them. Normally they die in €0,. which causee global warming. 1983 and a RAMSAR wetland in 1982. National Parks can be set
150,000km2 and 500kms has been mined so far. Itis est. to hold 1.7 | winter but winters are warmer now. _5_ 2) Some species are gnly found in taiga up to protect large areas which have a budget to be spent on
trillion barrels of oil. The forest is cut down to access the oil and the ‘g forests. Becnus"a they are gslqp(_)tsgjfh': conservation. People are allowed in but activities are regulated
surface is strip mined OR the tar is steamed so it melts and can be Wildfires: From May to June 2011 700, 00 ha of forest burnt down S ::L;:::'z::zgﬁea;’w eﬂ\eir g;cﬂn, PR and commercial exploitation is banned.
collected. Both damage the forest and toxic waste collects in ponds in Canada. This kills off trees that can’t resist fires reducing By 8) Many ladigeno 22 98 the Barmi
and kills wildlife. Mining also uses 2-4 tonnes of water for every biodiversity. This is due to hotter and drier summers, the pines act pamﬁe of Scandinavia, depend on the Wilderness areas can be created that protect areas of
tonne of oil produced and natural gas to heat water into steam. as fire kindling and the trees produce sticky resin which is forest for their trad/tiongl way of life. untouched taiga. These have laws that ban motorised transport
James Bay HEP project, Canada — hydroelectric power. This is in flammable. 1) The demand for resources is increasing and all economic exploitation such as timber logging.
Hudson Bay, Quebec. It is one of the largest HEP plants creating — people need the wood, fuel and minerals
16,500 MW of electricity. It was built between 1974 to 2012 and cost | Acid rain: Rain is acidic when the pH is lower than 5.7. It forms as - that the forests provide. Sustainable forestry in Finland: Finland has ‘everymans’ law so
$20billion. During construction 11,000km2 of forest was flooded, fossils fuels release sulphur dioxide e.g. cars which react with Bl 2) Forest indusiries, e.g. logging and "‘"‘"’;B- ng anyone can use the forest so people respect and look after
mercury was released as the forests rotted in the water, polluting clouds to form sulphuric acid which is carried to earth in the form s provide a lot of l-‘-PlE;i("-E- :‘”f'g\‘ :""“:) ogg them. 8% of their forest is protected and it is increasing as
the Rupert River and getting into the food web and even local of precipitation. This damages pine needles reducing .ié_ employ 2§ ﬂ.!ounan people in Can ’“-. o more is planted. 95% of their commercial forests quality for the
people who ate fish from the river. The roads and dams have photosynthesis and creates acidic soils which release aluminium 3 3) “;" %ﬁ:ﬂ 0:'::0:::?:\\5;::@ 8 the Finnish Forest Certification System so they are managed
g z N : & of wen or the Y B %
disrupted the Caribou migration patterns. which damages tree roots. forestry Indusatry in Sweden is worth nearly sustainably.
o 515 llion each year).

https:/fwww.bbc.com/bitesize/quides/zwy7sgs/revisionfi _http:/fwww.coolgeography.co.uk/GCSENeartt/Weather,Climate/Taiga/adaptations of taiga.htm




EOGRAPHY - TOPIC 18 (page 106 — 114)

CONSUMING ENERGY RESOURCES

Mon-renewable (fossil fuels) cannot be replaced once they are used e.g. coal, oil or
gas. In the UK 80% of gas comes from the North Sea through a pipe from Norway.

Renewable energy won't run out and can be generated over and over {infinite) e.g.
California has 16,000 wind turbines which created 6.9% of California’s energy.

=
o

Recyclable energy provide energy from
sources that can be recycled or reused
such as biofuel or reprocessed uranium.
For example biogas in India allows waste
to ferment and produce gas. There are
2.5 million biogas plants in India.

What environmental impacts does mining and drilling cause?

Qil drilling, USA — In 2010 the Deepwater Horizon oil rig run by BP exploded in the Gulf of Mexico

after a gas leak. It leaked oil for 87 days spilling 3.2M barrels of cil. The oil coated the ocean

surface killing marine and bird life e_g. baby delphins washed up in Alabama shores, it threatened

endangered species such as Gulf Coral and Louisiana pancake batfish. BP were fined 513 billion.
Open cast coal mining, China —the Shengli guarry is an open cast surface mine in Xilinhot, Inner
Mongolia. It is 37km2 and holds 2 billion tonnes of coal. The process uses a lot of water creating
shortage and scars the landscape as it creates large craters, damaging habitats.

What are the landscape impacts of renewable energy?

(HEP), Brazil — The Belo Monte Dam, Para state will be one of the world's largest dams. In Brazil 6%

of energy comes from renewables and HEP provides 85%: of all electricity. However this dam will
flood 400km2 of Amazon forest killing animals/ plants and changing fish migration. A build up of
sediment can block sunlight. Causing river plants and algae to die.

Solar energy, UK — heat reflected from mirrors can kill wildlife. When built on the ground they can

disturb animal habitats.

Wind energy, Germany — Large amount of turbinges are needed to produce significant energy,
which takes up a lot of space. They produce a constant humming noise (noise pollution). The
spinning blades can kills or injure birds and bats.

What is the global pattern of energy consumption use?

The map shows total ensrgy consumption (in tonnes of oil equivalent) by
country in 2014,
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Developed countries e g. Australia, Norway, Uk consume lots of energy per
person as they can afford it. Economic development is increasing weath in
emerging countries such as China, so people are buying more things.
Developing countries such as Chad, consume less energy as they are less able
to afford it.

‘Why is global energy consumption, unevenly distributed?

.

B

Muclaar pawer

|

e s

Bl surning bicmass
and wasts

Eniy b8 par persor

so sell

- ]

g 5 i g

& " z{- — ——— &

E f 2 3 count
B = E B v

A Flgure T Howe @rergy s oo Gaoils Ghanges a8
COUNTABE BECOma morg aifiuent

depends on their economic level as
explained in the box abowve._

Ll Consumption also depends
on reliance of trading fuels: Some
countries such as those in Sub
Saharan Africa, cannot afford to
extract their own energy sources and

instead, e.g. Shell in Nigeria.
depends on the demand in that
sectors: Manufacturing industries in
developed and emerging countries

rely on huge amounts of energy
being used, whereas in developing countries, primary industry such as agriculture uses very little.

Why does access to energy vary?
Their consumption
Niger has uranium but no technology for nuclear power plants.

Geology: fossil fuels come from sedimentary rocks but not all
countries have this. Some countries have geothermal power e.g.
Iceland as they are on a plate boundary.

Accessibility: permafrost prevents drilling for oil and other areas
them to TNC's to extract | are protected so accessing resources is banned.
Lastly, consumption also
nearer the equator e g. Spain or California can produce more

from different economic | power.

Landscape: hydro-slectric power uses lots of water and steep
slopes for the water to flow down. Wind power needs a steady,
reliable source e.g. on high ground or along the coast.

Technology: not all countries can access expensive technology e g.

Climate: solar power requires lots of sunlight so warmer climates

What are the main causes of oil consumption changing over time and space?
1. Rising GDP per capita —increased demand for electrical items.
2. Rapid industrialisation — particularly in emerging and developed countries,
3. Emerging economies — rise in manufacturing, increasing affluence,
inCreasing consumerism.
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What factors affect oil supply and price over time?
Oil reserves and oil production are unevenly distributed.
RESERVES refers to ¢il that could be
extracted using today's technology
PRODUCTION refers to the process
of extracting and refining the oil.
Most of the weorld's major il
reserves are found in the Middle
East.
il PRODUCTION depends on a
variety of factors including:
Infrastructure — the right
equipment and technology.
Domestic demand — Saudi Arabia
relies on oil to meet its own energy
needs.
Shrinking reserves — oil production
from the North Sea has declined as the supply is used up.

Crude Ol Reserves in Billlon Barreks (Gbbl)
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How do economic change and international relations affect oil prices?
International relations means
how countries work together.
*  Conflict - can disrupt oil
supply so it is reduced and
prices rise e.g. during the
Irag war in 2000s.
* Diplomatic relations —
tensions may rise between
il producing countries e.g = o C
Saudi Arabia and Iran =

creating uncertainty over supply.
Economic factors means relate to

Graph to show changes in global oif prices from 1976 — 2016,

wealth and jobs.

* Recession —e.g. the global finandial crisis of 2008 lowered demand for oil as business slowed

down as people lost jobs. This causes the price to fall.

*  Economic booms — oil prices rise during high growth as demand for oil rises but supply stays

the same.
= Supply — If the supply is low, but demand is high, the price will increase.

c-energylencrgy resources.hitm

What are the economic benefits and costs of developing new CONVENTIONAL
oil and gas sources in ecologically sensitive areas?
Conventional oil and gas reserves are being exploited in sensitive areas.
Economic benefits:
= Countries with oil save money by
relying less on imperting from
other oil producers.
*  These countries can make money
themselves by exporting their
Energy.
=  Qil and gas extraction brings jobs and investment into an areas.

Environmental costs:
* In order to reach new reserves, land may be cleared to make wasy for
pipelines and roads.
=  Exploring offshore reserves in the oceans can have a big impact on
marine life and vibrations can disturb animals who rely on sonar.
*  Opening up isolated areas with roads and pipelines can pollute soils and
water, as well as damaging habitats.

nttp:fiwww. bbc.coukfschookigoebitesize/geographyienergy resources/




EOGRAPHY - TOPIC 18 continued...

What are the environmental costs of developing new

Tar sands are naturally occurring mixes of sands, clay, and wat
petraieum called bitumen.

Benefits: it provides 500,000 local jobs,
there are few opportunities in this area
for young people that pay so well —
people earn up to 51000 per week. The
First Nation Indians benefit from these
jobs. The Canadian government earn tax
from companies like Shell and use that
money to pay for services e.g. schools or * |

hospitals.

Costs: 6 barrels of water used to produce
1 barrel of oil. The sands are surface
mined so all vegetation (Taiga) is cleared

UNCONVENTIONAL oil and gas sources?
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which destroys wildlife habitats. Fossil fuels are burned to remove the gil from the tar
sands 50 the process releases 15% more CO2 than traditional crude oil. Toxic waste
leaks into local rivers e g. est. 11 million litres reaching the Athabasca river daily.

What are the environmental costs of developing new UNCONVENTIONAL
oil and gas sources?

Fracking removes oil or gas from shale rock.
Shale gas is trapped in impermeable rock so
nermal drilling methods cannot be used.

Benefits: In e USA 39% of their gas came from
fracking in 2014 so it can meet demand. In
creating supply it is reducing the cost so
energy bills have fallen and it has created over
2 million jobs in the USA. The USA no longer
depends on other countries for gas so it is
becoming self-reliant and gas produces half
the carbon emissions of coal.

Costs: Water, sand and chemicals are forced down into the rock to release the gas and the
chemicals can contaminate the water supply. There is an increase in traffic as trucks bring in
water causing air and noise pollutien. It also cawses subsidence (ground sinks) as the water
disturbs the rocks which can cause gas to enter people’s homes through water taps.

What are the costs and benefits to alternatives to fossil fuels?

Ilvanpah Solar electric system, California: this area has a warm Mediterranean
climate and long hours of sunlight making it ideal for solar power. There are
400,000 small scale selar projects and the world’s largest solar thermal plant
which cost $2billlion. It is subsidised by the government so costs money to run.
Toyota Hydrogen technology: Hydrogen can be separated from others elements
e.g carbon and used to power cars. The Toyota Prius (electric hybrid) uses
hydrogen fuel cells as does the Myria. This car converts hydrogen in the cell to
electricity to power the cars four motors (one for 2ach wheel). It can travel 312
miles per cell but the cars are expensive and it takes energy to remove hydrogen
from other elements. The government are also subsidising the cars with $30,000
to keep the price low enough people will buy it.

You could also refer to the Sardar Sarovar Dam in India here or the use of
biofuel (biogas) in India as well.

Review page 112 of the revision guide for a fully comprehensive list and range of
different energy sources.

How can we be more energy efficient and conserve more energy?
There are three key aims we need to work towards in our home and transport
to enable us to be more efficient and conserve more energy:

1. Reduce demand
2. Help finite energy supplies last longer
3. Reduce carbon emissions

Energy conservation means changing our behaviour as consumers. E.g. driving
less, drying clothes outside or on airer etc.

Energy efficiency means that something does the same job as ancther
electrical item but uses less energy than it. E.g. a low energy lightbulb.

Transport and the home are two areas where we can all effectively work to
reduce our demand. Specific ideas on how to do this are outlined in the next

couple of boxes.

How can we increase energy efficiency in the home (domestic?)
The UK gov. offers the Green Deal which loans money to pay for improvements and
is repaid through energy bills. Some people can also get grants to pay directly to
install energy saving improvements e.g. insulation.

10% of enargy s A45% of heat is lost 35% of heat lozs

'OFfIVhFUUEi"'l through roofs - Loft is through
walls.— cavity. insulation reduces heat | |windaws and

this — cost £750 doors but double

(=g wool)

reducs heat loss o
and costs around this {cost is
E500 £5,000)

Hot water tank
jacket reduce
heat loss and

/\ || enermgy use from

Thick carpets
and underlays

to reduce the saurce and
heat loss I casts around
through the [ L—" £12

floor

How can we increase energy efficiency and conservation in cities?

1 London Hybrid buses, introduced in
2012, produce 40% maore fuel efficient. This
means that less fossil fuels will be used and less
€02 will be emittad.

2. Twelve new cycle superhighways which
are blue and
1.5m wide have been built. This means that
more people will cycle so there will be less
cars on the road so less fuel will be burnt.
3. 6000
Santander hire bikes were introduced to the
city in 2010 and can be hired from 400
locations. This means that people will cycle
shorter journeys again reducing the amount of
vehicles on the road and reducing congestion.

How can we measure our energy use and impact?

Ecological footprint is measured

each country.

in global hectares (gha) and shows
the amount of land and water
needed to produce resources for

If people live within the earth’s

supply of resources their eco

footprint is 1. The higher the figure,
the more space is needed.

Carbon footprint is the total GHGs
praduced per person, household ar
region. Directly created by fossil
fuels or indirectly created by owning
a product or disposing of one.

What does the future of energy look like?

Two possible scenarios are likely in the future
1. Business as usual — the world will continue to rely of fossil fuels and
production will rise,
2. Asustainable future—
renewables will increase,
with greater energy
mixes to reduce CO2.
The international Energy Agency =
have set out their 450 scenarioto . -
limit GHG to 450 parts per million
of CO2 in order to stop
temperatures rising by 6degrees.
A major issue is that is assumes
countries will tax fuel using a
carbon tax to make fuel more
expensive.

Fgurs 2 Possibie reasons why OO, emissions might fal by 2025

How do attitudes to energy and environmental issues vary?
Journalist, Matt Ridley, is a climate ‘lukewarmer’ who thinks global warming is ‘real,
mostly man made and will continue’ but that it isn't as dangerous as often stated. He
believes fossil fuels should still be used but phasing out coal is a good long term salution.
TN, Shell, argue that ‘a range of resources will be needed to supply energy and up to
30% of energy could come from renewable’. They want to find ways to provide cleaner
energy and reduce bills for customers.

UK Gov, Dept. for Energy and Climate change, are trying to tackle CC and keep energy
bills low for customers. The gov believe solutions will come through technology and
invention. Cutting GHG emissions are vital now as it is inevitable in the future.

Climate scientist, Prof. Mike Hulme, has studied cimate since 1981 and believes thers
are ‘5 lessons of CC" including it is “a relative risk not an absolute one’, it is serious, the
world has development needs, the current energy mix is not sustainable and engineering
the planet to cope will not work.

Env. Campaign group, Greenpeace, argue that ‘it's about getting the world from where
we are now to where we need to be_. cutting CO2 emissions whilst ensuring energy
security’. They want an energy ‘revalution’ which phases out fossil fusls and invests more
in renewables.

EXAM Q: Assess the reasons why people's views differ about energy futures (8)
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How should 1 describe distributions and locations on a map? How do 1 use grid references to locate places? How do I use longitude and latitude to locate places?
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EOGRAPHY — TOPIC 20
PRACTICE QUESTIONS AND TOP TIPS!

(8 marks)

https://www.senecalearning.com/blog/gcse-geography-
revision/

Topic Paper 1 (90 mins, 94 marks, 37.5% of your GCSE) Topic | Paper 2 (90 mins, 94 marks, 37.5% of your GCSE) | Topic Paper 3 (90 mins, 64 marks, 25% of your GCSE) |
1 ‘Past climate change helps scientists to predict how climate 8 Suggest two ways that human activity may shape the 15 Explain how changes to the biosphere may change the \
will change in the future.” Assess this statement. (8 marks) physical landscape. {4 marks) composition of the atmosphere. (3 marks) \
2 Referring to a developed country assess the effectiveness 9 Explain how Integrated Coastal Zone Management can 16 Explain two ways that trees in the emergent layer are
of the preparation methods used in reducing the impacts of offer a sustainable approach to protecting the coastline. adapted to their environment. (4 marks)
tropical cyclones. (8 marks + 4 SPAG) (4 marks) |
3 Evaluate the effectiveness of the methods of response to a 10 Explain two ways in which human activities can affect 17 Explain the benefits of creating a national park. (4 marks) "I
tectonic hazards in a named developing country. storm hydrographs (4 marks) |
4 Explain the disadvantages of ‘top — down’ strategies for the 11 Explain how the governments immigration policy has 128 Other than rising affluence, explain why sustainable energy |
recipient country. {4 marks) changed the UK's diversity (4 marks) use has been increasing in developed countries. (4 marks) |
5 Evaluate the positive and negative impacts of development 12 For a named UK city, explain two reasons why the Useful websites and extra resources: {
on different groups of people in an emerging country you function of the inner city have changed in recent years. 1. Free 30 day trial: https://www.educake.co.uk/geography '
have studied. (8 marks) (4 marks) 2. Full glossary for the course:
6 Explain why the population is growing rapidly in a megacity 13 FOR YOUR OWN COASTAL FIELDWORK: Assess the role http://www.hodderplus.co.uk/myrevisionnotes/ecse-
in an emerging or a developing country you have studied. of secondary data sources in your investigation. (8 cosraphv/Edexcel-B/MRN-Edx-Geog-Glossary. ndf
(4 marks) - - - marks) 3. https://www.bbc.com/bitesize/examspecs/zsytxsg
7 For a named megacity, assess the different strategies used 14 FOR YOUR OWN URBAN FIELDWORK: Assess the
to improve sustainability. (8 marks + 4 SPAG) suitability of the sites you chose for your data collection. 4.
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PRACTICE QUESTIONS AND TOP TIPS!
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